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MOTION

Example

1. A bus starts from village A to  am and

reaches village B at  am. If the discatnace

7: 00

8: 30

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_zsLoqdg13wJK


between the villages A and B is 60 km. Find the

average speed of the bus.

Watch Video Solution

2. A bus starts from village A to  am and

reaches village B at  am. If the discatnace

between the villages A and B is 60 km. Find the

average speed of the bus.

Watch Video Solution

7: 00

8: 30

https://dl.doubtnut.com/l/_zsLoqdg13wJK
https://dl.doubtnut.com/l/_zKvj808O0Wr6


Activity

1. Discuss whether the walls of your classroom

are at rest or in motion.

Watch Video Solution

2. Have you ever experienced that the train in

which you are sitting appears to move while it

is at rest ? Discuss and share your experience.

Watch Video Solution

https://dl.doubtnut.com/l/_d1FEy5jSfU60
https://dl.doubtnut.com/l/_gXQ8ip92taCV


3. Take a metre scale and a long rope. 

Walk from one corner A of a basketball court

to its opposite corner Calong its sides AB and

AC. 

Measure the distance covered by you and

magnitude of the displacement. 

What difference would you notice between the

two in this case ?

Watch Video Solution

https://dl.doubtnut.com/l/_2e2cAAciM33f


4. Automobiles are fitted with a device that

shows the distance travelled. Such a device is

known as an odometer. A car is driven from

Bhubaneshwar to New Delhi. The difference

between the final reading and the initial

reading of the odometer is 1850 km. 

Find the magnitude of the displacement

between Bhubaneshwar and New Delhi by

using the Road Map of India.

View Text Solution

https://dl.doubtnut.com/l/_h8Hqx6Wkmk1m
https://dl.doubtnut.com/l/_bGR0lMFRrvxX


5. The data regarding the motion of two

different objects A and B are given in the

following table : 

 


Examine them carefully and state whether the

motion of the objects is uniform or non-

uniform.

Watch Video Solution

https://dl.doubtnut.com/l/_bGR0lMFRrvxX
https://dl.doubtnut.com/l/_gykQZ0AIFXQO


6. Measure the time it takes you to walk from

your house to your bus stop or the school. If

you consider that your average walking speed

is  estimate the distance of the

bus stop or school from your house.

Watch Video Solution

4kmsperhr

7. At a time when it is cloudy. there may be

frequent thunder and lightning. The sound of

thunder takes some time to reach you after

https://dl.doubtnut.com/l/_gykQZ0AIFXQO
https://dl.doubtnut.com/l/_wFRwsUhmU5eY


you see the lightning . 

Can you answer why this happens ?

Watch Video Solution

8. Measure this time interval using a digital

wrist watch or a stopwatch. 

Calculate the distance of the nearest point of

lightning (Speed of sound in air = 346 )

Watch Video Solution

ms−1

https://dl.doubtnut.com/l/_wFRwsUhmU5eY
https://dl.doubtnut.com/l/_x20fF96tnRgo


9. In your everyday life you come across a

range of motions in which 

(a) acceleration is in the direction of motion. 

(b) acceleration is against the direction of

motion. 

(c) acceleration is uniform. 

(d) acceleration is non-uniform. 

Can you identify one example each of the

above type of motion ?

Watch Video Solution

https://dl.doubtnut.com/l/_6H37cfeS7LEK
https://dl.doubtnut.com/l/_Iqgyj2JxMkT1


10. The time of arrival and departure of a train

at three stations A, B and Cand the distance of

stations B and C from A are given in the

following table: 

 

`Plot and interpret the distance-time graph for

the train assuming that its motion between

any two siations in uniform.

Watch Video Solution

https://dl.doubtnut.com/l/_Iqgyj2JxMkT1


11. Feroz and his sister Sania go to school on

their bicycle. Both of them start the at the

same time from their home but take different

times to reach the school although they follow

the same route. 

The table given below shows the distance

travelled by them in different times: 

 Draw

the graph for distance-time graph

Watch Video Solution

https://dl.doubtnut.com/l/_gMA8KEKuEPEP


12. Take a piece of thread and tie a small place

of stone at one of its ends. Hold the other end

of the thread and move the stone to describe

a circular path with constant speed. 

 

A stone describing a circular path with a

velocity of constant magnitude 

Now, release the thread. 

https://dl.doubtnut.com/l/_nNXqING0sSar


Can you tell the direction in which the stone

moves after it is released ?

Watch Video Solution

13. If n capacitors are connected in series then

what is the equivalent capacitance?

Watch Video Solution

14. If n capacitance are connected in parallel

and all are equal then find equivalent

https://dl.doubtnut.com/l/_nNXqING0sSar
https://dl.doubtnut.com/l/_2nW1l6woKX3y
https://dl.doubtnut.com/l/_L3qOK7coqrtz


capacitance.

Watch Video Solution

15. Take a metre scale and a long rope. 

Walk from one corner A of a basketball court

to its opposite corner Calong its sides AB and

AC. 

Measure the distance covered by you and

magnitude of the displacement. 

What difference would you notice between the

two in this case ?

https://dl.doubtnut.com/l/_L3qOK7coqrtz
https://dl.doubtnut.com/l/_aKtbGBqlyaG4


Watch Video Solution

16. If n equal resistance are first connected in

series then find the equivalent resistance

Watch Video Solution

17. The data regarding the motion of two

different objects A and B are given in the

following table : 

https://dl.doubtnut.com/l/_aKtbGBqlyaG4
https://dl.doubtnut.com/l/_tL3pynoyPEpO
https://dl.doubtnut.com/l/_aDbNuQTGs75l


 


Examine them carefully and state whether the

motion of the objects is uniform or non-

uniform.

View Text Solution

18. Measure the time it takes you to walk from

your house to your bus stop or the school. If

https://dl.doubtnut.com/l/_aDbNuQTGs75l
https://dl.doubtnut.com/l/_9QbUUaUwNDq5


you consider that your average walking speed

is  estimate the distance of the

bus stop or school from your house.

Watch Video Solution

4kmsperhr

19. If n equal resistance are connected in

parallel then find the equivalent resistance.

Watch Video Solution

https://dl.doubtnut.com/l/_9QbUUaUwNDq5
https://dl.doubtnut.com/l/_AiBwpsdU2uST


20. Measure this time interval using a digital

wrist watch or a stopwatch. 

Calculate the distance of the nearest point of

lightning (Speed of sound in air = 346 )

View Text Solution

ms−1

21. In your everyday life you come across a

range of motions in which 

(a) acceleration is in the direction of motion. 

(b) acceleration is against the direction of

https://dl.doubtnut.com/l/_L3explkUZ3rH
https://dl.doubtnut.com/l/_oS5eCbtU5XQZ


motion. 

(c) acceleration is uniform. 

(d) acceleration is non-uniform. 

Can you identify one example each of the

above type of motion ?

Watch Video Solution

22. The time of arrival and departure of a train

at three stations A, B and Cand the distance of

stations B and C from A are given in the

following table: 

https://dl.doubtnut.com/l/_oS5eCbtU5XQZ
https://dl.doubtnut.com/l/_BWn6OVCsggmX


 

`Plot and interpret the distance-time graph for

the train assuming that its motion between

any two siations in uniform.

View Text Solution

23. Feroz and his sister Sania go to school on

their bicycle. Both of them start the at the

same time from their home but take different

times to reach the school although they follow

https://dl.doubtnut.com/l/_BWn6OVCsggmX
https://dl.doubtnut.com/l/_BXgbtxFdOiMB


the same route. 

The table given below shows the distance

travelled by them in different times: 

View Text Solution

24. Take a piece of thread and tie a small place

of stone at one of its ends. Hold the other end

of the thread and move the stone to describe

a circular path with constant speed. 

https://dl.doubtnut.com/l/_BXgbtxFdOiMB
https://dl.doubtnut.com/l/_L3cyvTjsVZey


 

A stone describing a circular path with a

velocity of constant magnitude 

Now, release the thread. 

Can you tell the direction in which the stone

moves after it is released ?

Watch Video Solution

https://dl.doubtnut.com/l/_L3cyvTjsVZey


Think And Act

1. We sometimes are endangered by the

motion of objects around us, especially if that

motion is erratic and uncontrolled as

observed in a flooded river, a hurricane or a

tsunami. On the other hand, controlled

motion can be a service to human beings such

as in the generation of hydroelectric power.

Do you feel the necessity to study the erratic

motion of some objects and learn to control

them?

https://dl.doubtnut.com/l/_q5KYiKLps45e


View Text Solution

2. We sometimes are endangered by the

motion of objects around us, especially if that

motion is erratic and uncontrolled as

observed in a flooded river, a hurricane or a

tsunami. On the other hand, controlled

motion can be a service to human beings such

as in the generation of hydroelectric power.

Do you feel the necessity to study the erratic

motion of some objects and learn to control

them?

https://dl.doubtnut.com/l/_q5KYiKLps45e
https://dl.doubtnut.com/l/_OqOQzGpPCgSk


Intext Questions And Answers

View Text Solution

1. An object has moved through a distance.

Can it have zero displacement ? If yes, support

your answer with an example.

Watch Video Solution

https://dl.doubtnut.com/l/_OqOQzGpPCgSk
https://dl.doubtnut.com/l/_Oe6dvcaW6nf9


2. A farmer moves along the boundry of a

square field of side 10M in 40s. What will be

the magnitude of displacement of the farmer

at the end of 2 minutes 20 seconds from his

initial position?

Watch Video Solution

3. Which of the following is true for

displacement ? 

(a) It cannot be zero. 

https://dl.doubtnut.com/l/_ggwZDFZxyRr1
https://dl.doubtnut.com/l/_POp5ERM17Hvz


(b) Its magnitude is greater than the distance

travelled by the object.

Watch Video Solution

4. Distinguish between speed and velocity.

Watch Video Solution

5. Under what condition (s) is the magnitude

of average velocity of an object is equal to its

average speed ?

https://dl.doubtnut.com/l/_POp5ERM17Hvz
https://dl.doubtnut.com/l/_BAqAIdfLz33K
https://dl.doubtnut.com/l/_9lF7yFZOpLmM


Watch Video Solution

6. What does the odometer of an automobile

measure ?

Watch Video Solution

7. What does the path of an object look like

when it is in uniform motion ?

Watch Video Solution

https://dl.doubtnut.com/l/_9lF7yFZOpLmM
https://dl.doubtnut.com/l/_yoxXEvONumii
https://dl.doubtnut.com/l/_4rv8Y75Amh0E
https://dl.doubtnut.com/l/_oKKJJBM5KmeW


8. During an experiment, a signal from

spaceship reached the ground station in five

minute. What was the distance of the

speceship from the ground station ? The

signal travels at the speed of light, that is,

Watch Video Solution

3 × 108ms−1.

9. When will you say a body is in (i) uniform

acceleration ? 

(ii) non-uniform acceleration ?

https://dl.doubtnut.com/l/_oKKJJBM5KmeW
https://dl.doubtnut.com/l/_faukkyofqm1Q


Watch Video Solution

10. A bus decreases its speed from 

to  in 5s. Find the acceleration of the

bus.

Watch Video Solution

80kmh−1

60kmh−1

11. A train starting from a railway station and

moving with uniform acceleration attains a

https://dl.doubtnut.com/l/_faukkyofqm1Q
https://dl.doubtnut.com/l/_K379E1l3rSnO
https://dl.doubtnut.com/l/_zhrLVw7ZyXW9


speed of  in 10 minute. Find its

acceleration.

Watch Video Solution

40km−1

12. What is the nature of the distance-time

graphs for uniform and non-uniform motion

of an object?

Watch Video Solution

https://dl.doubtnut.com/l/_zhrLVw7ZyXW9
https://dl.doubtnut.com/l/_ldOCLDi9dGXX


13. What can you say about the motion of an

object whose distance-time graph is a straight

line parallel to the time axis ?

Watch Video Solution

14. What can you say about the motion of an

object if its speed-time graph is a straight line

parallel to the time axis ?

Watch Video Solution

https://dl.doubtnut.com/l/_VAqKcCMqowjZ
https://dl.doubtnut.com/l/_0f3FzYrrBWS8
https://dl.doubtnut.com/l/_G7dbNU5J0HuP


15. What is the quantity which is measured by

the area occupied below the velocity-time

graph ?

Watch Video Solution

16. A bus starting from rest moves with a

uniform acceleration of  for 2

minutes. Find (a) the speed acquiresd (b) the

distance travelled.

Watch Video Solution

0.1ms−2

https://dl.doubtnut.com/l/_G7dbNU5J0HuP
https://dl.doubtnut.com/l/_TJNoJlXYrtdA


17. A train is travelling at a peed of 

Breakes are applied so as to produce a

uniform acceleration of  Find how

far the train will go before it is brought to

rest.

Watch Video Solution

90kmh−1.

−0.5ms−2.

18. A trolley, while going doen an inclined

plance, has an acceleration of 2  What

will be its velocity 3 s after the start ?

cms−2.

https://dl.doubtnut.com/l/_F5V57dbhWLOr
https://dl.doubtnut.com/l/_b7wnjiFxBUyI


Watch Video Solution

19. A racing car has a uniform acceleration of

 What distance will it cover in 10 s

after the start ?

Watch Video Solution

4ms−2.

20. A stone is throuwn in a vertically upward

direction with a velocity of  If the

acceleration of the stone during its motion is

 in the downword direction, what will

5ms−1.

10ms−2

https://dl.doubtnut.com/l/_b7wnjiFxBUyI
https://dl.doubtnut.com/l/_csgZfswte72j
https://dl.doubtnut.com/l/_RANLe7xAhKGo


be the height attained by the stone and how

much time will it take to reach there ?

Watch Video Solution

21. An object has moved through a distance.

Can it have zero displacement ? If yes, support

your answer with an example.

Watch Video Solution

https://dl.doubtnut.com/l/_RANLe7xAhKGo
https://dl.doubtnut.com/l/_SF3KmXwRCRwh


22. A farmer moves along the boundary of a

square field of side 10 m in 40s. What will be

the magnitude of displacement of the farmer

at the end of 2 minute 20 second from his

initial position ?

Watch Video Solution

23. Which of the following is true for

displacement ? 

(a) It cannot be zero. 

https://dl.doubtnut.com/l/_TmUVp0YKDcOW
https://dl.doubtnut.com/l/_YZoFwLnt7AtF


(b) Its magnitude is greater than the distance

travelled by the object.

Watch Video Solution

24. Distinguish between speed and velocity.

Watch Video Solution

25. Under what condition (s) is the magnitude

of average velocity of an object is equal to its

average speed ?

https://dl.doubtnut.com/l/_YZoFwLnt7AtF
https://dl.doubtnut.com/l/_WyMhZy3WBCP7
https://dl.doubtnut.com/l/_gwo3OT0ubCI0


Watch Video Solution

26. What does the odometer of an automobile

measure ?

Watch Video Solution

27. If n equal resistance are first connected in

series and then in parallel. The ratio of

resistance in series and parallel arrangements

will be

https://dl.doubtnut.com/l/_gwo3OT0ubCI0
https://dl.doubtnut.com/l/_PqkATxSXP1ra
https://dl.doubtnut.com/l/_NHVcbDu5Zo3g


Watch Video Solution

28. During an experiment, a signal from

spaceship reached the ground station in five

minute. What was the distance of the

speceship from the ground station ? The

signal travels at the speed of light, that is,

Watch Video Solution

3 × 108ms−1.

https://dl.doubtnut.com/l/_NHVcbDu5Zo3g
https://dl.doubtnut.com/l/_XBdUxjS2svcc


29. When will you say a body is in (i) uniform

acceleration ? 

(ii) non-uniform acceleration ?

Watch Video Solution

30. A bus accelerates its speed from 

to  in 5s. Find the acceleration of the

bus.

Watch Video Solution

24kmh−1

54kmh−1

https://dl.doubtnut.com/l/_UzOrdZHM7VyR
https://dl.doubtnut.com/l/_6csPbVftPDRV
https://dl.doubtnut.com/l/_kbdQabjwN0Rz


31. A train starting from a railway station and

moving with uniform acceleration attains a

speed of  in 10 minute. Find its

acceleration.

Watch Video Solution

40km−1

32. What is the nature of the distance-time

graphs for uniform and non-uniform motion

of an object?

Watch Video Solution

https://dl.doubtnut.com/l/_kbdQabjwN0Rz
https://dl.doubtnut.com/l/_ozN3FYxxQznA


33. What can you say about the motion of an

object whose distance-time graph is a straight

line parallel to the time axis ?

Watch Video Solution

34. What can you say about the motion of an

object if its speed-time graph is a straight line

parallel to the time axis ?

Watch Video Solution

https://dl.doubtnut.com/l/_iwLRWtLSKkwb
https://dl.doubtnut.com/l/_rqiI6sqqPgcq
https://dl.doubtnut.com/l/_VVIDPF8PlVU0


35. What is the quantity which is measured by

the area occupied below the velocity-time

graph ?

Watch Video Solution

36. A bus starting from rest moves with a

uniform acceleration of  for 2

minutes. Find (a) the speed acquiresd (b) the

distance travelled.

Watch Video Solution

0.1ms−2

https://dl.doubtnut.com/l/_VVIDPF8PlVU0
https://dl.doubtnut.com/l/_oYb2YkoFHsFn


37. A train is travelling at a peed of 

Breakes are applied so as to produce a

uniform acceleration of  Find how

far the train will go before it is brought to

rest.

Watch Video Solution

90kmh−1.

−0.5ms−2.

38. A trolley, while going doen an inclined

plance, has an acceleration of 2  What

will be its velocity 3 s after the start ?

cms−2.

https://dl.doubtnut.com/l/_cfFGWrcFejWZ
https://dl.doubtnut.com/l/_ObHFzERnKfsR


Watch Video Solution

39. A racing car has a uniform acceleration of

 What distance will it cover in 10 s

after the start ?

Watch Video Solution

4ms−2.

40. A stone is throuwn in a vertically upward

direction with a velocity of  If the

acceleration of the stone during its motion is

 in the downword direction, what will

5ms−1.

10ms−2

https://dl.doubtnut.com/l/_ObHFzERnKfsR
https://dl.doubtnut.com/l/_BIUI3UT0MW8P
https://dl.doubtnut.com/l/_0AR9up5lrvGX


Question And Answer

be the height attained by the stone and how

much time will it take to reach there ?

Watch Video Solution

1. What is motion ?

Watch Video Solution

2. What is uniform motion ?

https://dl.doubtnut.com/l/_0AR9up5lrvGX
https://dl.doubtnut.com/l/_li9F9zm4ZEM1
https://dl.doubtnut.com/l/_KwCQHH9aqLug


Watch Video Solution

3. What is displacement ?

Watch Video Solution

4. Is it possible that displacement is greater

than the distance travelled by an object ?

Watch Video Solution

https://dl.doubtnut.com/l/_KwCQHH9aqLug
https://dl.doubtnut.com/l/_1QhOH0rwHKCA
https://dl.doubtnut.com/l/_p6aNehwE7pTt


5. Define : Speed

Watch Video Solution

6. State the units of speed

Watch Video Solution

7. Define : Average speed

Watch Video Solution

https://dl.doubtnut.com/l/_C7jXa10ipx22
https://dl.doubtnut.com/l/_vOql0fniIoAK
https://dl.doubtnut.com/l/_e77ahrnFSY6J


8. Can the average speed of an object in

motion be zero ?

Watch Video Solution

9. What is displacement of an object in motion

in unit time called ?

Watch Video Solution

10. Define : Accelaration

https://dl.doubtnut.com/l/_lEmrG3aLgMzf
https://dl.doubtnut.com/l/_hBUbOrBIxrqe
https://dl.doubtnut.com/l/_UDP1CXzO62VB


Watch Video Solution

11. What is the SI unit of acceleration ?

Watch Video Solution

12. A train starting from a railway station

attains a velocity of  in one minute.

What is its acceleration ?

Watch Video Solution

30ms−1

https://dl.doubtnut.com/l/_UDP1CXzO62VB
https://dl.doubtnut.com/l/_xmxzrDfJVdFn
https://dl.doubtnut.com/l/_gE6wyklo7iT0
https://dl.doubtnut.com/l/_SRwheJ3ja8fh


13. Give an example of uniform acceleration.

Watch Video Solution

14. Give an example of negative acceleration.

Watch Video Solution

15. Name two quantities which you can

calculate from speed-time graph.

Watch Video Solution

https://dl.doubtnut.com/l/_SRwheJ3ja8fh
https://dl.doubtnut.com/l/_eVJGxrINH7JU
https://dl.doubtnut.com/l/_PuEhCxQbsP8s


16. What do the following distance-time

graphs indicate ? 

Watch Video Solution

https://dl.doubtnut.com/l/_PuEhCxQbsP8s
https://dl.doubtnut.com/l/_6fIjifBzot6Q
https://dl.doubtnut.com/l/_6Tl9uxTaccGJ


17. What does the area under velocity-time

graph and the time axis represent ?

Watch Video Solution

18. Define : Uniform circular motion

Watch Video Solution

19. What type of motion does an athlete

moving along a circular path with constant

speed execute ?

https://dl.doubtnut.com/l/_6Tl9uxTaccGJ
https://dl.doubtnut.com/l/_sLL8PeGsSKhD
https://dl.doubtnut.com/l/_x9ulFrZaauLA


Watch Video Solution

20. A driver decreases the speed of a car from

 to 1  in 5 second. Find the

acceleration of the car.

Watch Video Solution

25ms−1 0ms−1

21. What is motion ?

Watch Video Solution

https://dl.doubtnut.com/l/_x9ulFrZaauLA
https://dl.doubtnut.com/l/_1WK7j05gxzdN
https://dl.doubtnut.com/l/_ZPRlVNr0RKcl
https://dl.doubtnut.com/l/_wUtt9ukBQrWc


22. What is uniform motion ?

Watch Video Solution

23. What is displacement ?

Watch Video Solution

24. Is it possible that displacement is greater

than the distance travelled by an object ?

Watch Video Solution

https://dl.doubtnut.com/l/_wUtt9ukBQrWc
https://dl.doubtnut.com/l/_Vxy3MiPSEC2j
https://dl.doubtnut.com/l/_Xd7PTXZUljng


25. Define : Speed

Watch Video Solution

26. State the units of speed

Watch Video Solution

27. Define : Average speed

Watch Video Solution

https://dl.doubtnut.com/l/_Xd7PTXZUljng
https://dl.doubtnut.com/l/_Jnk8nf8knYVh
https://dl.doubtnut.com/l/_179zur9iqdjD
https://dl.doubtnut.com/l/_likaa3VnM8Gx


28. Can the average speed of an object in

motion be zero ?

Watch Video Solution

29. What is displacement of an object in

motion in unit time called ?

Watch Video Solution

https://dl.doubtnut.com/l/_likaa3VnM8Gx
https://dl.doubtnut.com/l/_UAIGztV0UN2P
https://dl.doubtnut.com/l/_w6sWPcw6He7Y


30. Define : Accelaration

Watch Video Solution

31. What is the SI unit of acceleration ?

Watch Video Solution

32. A train starting from a railway station

attains a velocity of  in one minute.

What is its acceleration ?

30ms−1

https://dl.doubtnut.com/l/_2zcHN0s40Gpa
https://dl.doubtnut.com/l/_CAoClcxQ03V6
https://dl.doubtnut.com/l/_JACwkxvuI7UD


Watch Video Solution

33. Give an example of uniform acceleration.

Watch Video Solution

34. Give an example of negative acceleration.

Watch Video Solution

https://dl.doubtnut.com/l/_JACwkxvuI7UD
https://dl.doubtnut.com/l/_VjCqAcg1QMOt
https://dl.doubtnut.com/l/_7dVVtvbZ2Chs


35. Name two quantities which you can

calculate from speed-time graph.

Watch Video Solution

36. What do the following distance-time

graphs indicate ? 

https://dl.doubtnut.com/l/_qpWf5uzMogrL
https://dl.doubtnut.com/l/_aVJ6CT6kB8Zv


Watch Video Solution

37. What does the area under velocity-time

graph and the time axis represent ?

Watch Video Solution

https://dl.doubtnut.com/l/_aVJ6CT6kB8Zv
https://dl.doubtnut.com/l/_Dr74pEBr96r0


38. Define : Uniform circular motion

Watch Video Solution

39. What type of motion does an athlete

moving along a circular path with constant

speed execute ?

Watch Video Solution

https://dl.doubtnut.com/l/_Dr74pEBr96r0
https://dl.doubtnut.com/l/_MgkyNoy6hRcZ
https://dl.doubtnut.com/l/_awvig45QJAjE


Choose Corect Option

40. A driver decreases the speed of a car from

 to 1  in 5 second. Find the

acceleration of the car.

Watch Video Solution

25ms−1 0ms−1

1. For which of the following physical

quantities it is necessary to indicate direction

along with its magnitude ?

https://dl.doubtnut.com/l/_8EKvJsO74hT5
https://dl.doubtnut.com/l/_4Vr1WwMbKOva


A. Speed

B. Path length

C. Displacement Temperature

D. Temperature

Answer: C

Watch Video Solution

2. A sprinter completes a round on a circular

path of circumference 400 m, what is his

displacement ?

https://dl.doubtnut.com/l/_4Vr1WwMbKOva
https://dl.doubtnut.com/l/_wcyj4LNQu5Bb


A. 400 m

B. 200 m

C. 100 m

D. zero

Answer:

Watch Video Solution

3. Constant speed oof a train is 

What is its speed in unit 

54kimh−1.

' ms−1. ?

https://dl.doubtnut.com/l/_wcyj4LNQu5Bb
https://dl.doubtnut.com/l/_31vj3WGeouPe


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

15ms−1

90ms−1

1.5ms−1

9ms−1

4. A scooterist travels at  along a

stright path for 20 min. How much distance

has he travelled ?

30kmh−1

https://dl.doubtnut.com/l/_31vj3WGeouPe
https://dl.doubtnut.com/l/_EMguAjstVr2b


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1.5km

6km

10km

90km

5. A cyclist travels 5km in the east direction.

Then he travels 12km in the south direction.

https://dl.doubtnut.com/l/_EMguAjstVr2b
https://dl.doubtnut.com/l/_Pp2iBj36n0gf


What is the magnitude of displacement of the

cyclist ?

A. 17 km

B. 13 km

C. 7km

D. zero

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_Pp2iBj36n0gf


6. If velocity-time graph for a body in motion is

a straight line parallel to time axis, what type

of motion is the body performing ?

A. would be stationary

B. non-uniform motion

C. motion with constant acceleration

D. motion with constant velocity

Answer: A::C

Watch Video Solution

https://dl.doubtnut.com/l/_V3PH4hovQMic


7. Which type of motion is described by a

graph in figure? 

A. uniform motion

B. uniformly accelerated motion

https://dl.doubtnut.com/l/_sS1gfckcY2fP


C. non-uniform acce lerated motion

D. body is in stationary state

Answer: B

Watch Video Solution

8. Velocity of a vehicle increases from 5ms to

 in 5 s. What is the magnitude of

acceleration ?

A. 

15ms−1

4ms−2

https://dl.doubtnut.com/l/_sS1gfckcY2fP
https://dl.doubtnut.com/l/_BW5ZcpPh0EC0


B. 

C. 

D. 

Answer: B

Watch Video Solution

4ms−1

2ms−1

2ms−2

9. Velocity-time graphs vehicle A for vehicles A

and B are shown in figure Which vehicle has

accelerated motion vehicle B and which vehicle

https://dl.doubtnut.com/l/_BW5ZcpPh0EC0
https://dl.doubtnut.com/l/_PJAvgg7He2Ee


has retarded motion ? 

A. Vehicle A retardation, vehicle B

acceleration

B. Vehicle A acceleration, vehicle B

retardation

https://dl.doubtnut.com/l/_PJAvgg7He2Ee


C. Both vehicles A and B acceleration

D. Both vehicles A and B retardation

Answer: B

Watch Video Solution

10. Acceleration of a car in motion is

 How much is the increase in

velocity in 4s?

A. 

1.5ms−2.

6ms−1

https://dl.doubtnut.com/l/_PJAvgg7He2Ee
https://dl.doubtnut.com/l/_NKu8OL1ImoQ2


B. 

C. 

D. 

Answer: A

Watch Video Solution

4ms−1

4ms−1

2.66ms−1

11. For which physical quantity from the

following, direction is not required to be

mentioned with its magnitude ?

https://dl.doubtnut.com/l/_NKu8OL1ImoQ2
https://dl.doubtnut.com/l/_v2k5bDqEuXXU


A. Speed

B. Displacement

C. Velocity

D. Acceleration

Answer: D

Watch Video Solution

12. When is it said that the object performs

uniform motion?

https://dl.doubtnut.com/l/_v2k5bDqEuXXU
https://dl.doubtnut.com/l/_Mz0o2JyAJYou


A. Covers different distances in equal

intervals of time.

B. Covers equal distances in different time

intervals.

C. Covers equal distances in equal time

intervals.

D. Covers different distances in different

time intervals.

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_Mz0o2JyAJYou


13. A person walks distance of 4 km from his

home in the north direction. Then he covers

distance of 3 km in west direction. Now t from

this place he direction walks toward home on

the path of minimum distance between that

place and home. What would be the total

https://dl.doubtnut.com/l/_Mz0o2JyAJYou
https://dl.doubtnut.com/l/_pC0WuCOetRIU


Home distance covered by this person? 

A. 5 km

B. 7 km

C. 12 km

D. zero

https://dl.doubtnut.com/l/_pC0WuCOetRIU


Answer: C

Watch Video Solution

14. A vehicle covers certain distance at

constant speed of  in time interval 't'

on linear path. Then it covers certain distance

at constant speed of  in the same

time interval. What is the average speed of the

vehicle ?

A. 

20kmh−1

30kmh−1

25kmh−1

https://dl.doubtnut.com/l/_pC0WuCOetRIU
https://dl.doubtnut.com/l/_hb8WC67EW4KE


B. 

C. 

D. 

Answer: A

Watch Video Solution

24kmh−1

50kmh−1

12kmh−1

15. What is acceleration?

A. Rate of position changing with time

B. Rate of velocity changing with time

https://dl.doubtnut.com/l/_hb8WC67EW4KE
https://dl.doubtnut.com/l/_0Z6WmDI6cCxJ


C. Rate of speed changing with time

D. Rate of displacement changing with time

Answer: B

Watch Video Solution

16. Which of the following relations is correct

for a vehicle performing uniform accelerated

motion?

A. v =
a

t

https://dl.doubtnut.com/l/_0Z6WmDI6cCxJ
https://dl.doubtnut.com/l/_CbZgKSymkfxb


B. 

C. 

D. 

Answer: A

Watch Video Solution

u =
a

t

t = −
(v − u)

a

v = u + at

17. A graph of velocity versus time (v - t) for an

object performing motion with uniform

acceleration is shown 

https://dl.doubtnut.com/l/_CbZgKSymkfxb
https://dl.doubtnut.com/l/_4s8eGLIFVChb


 


What would be the velocity of the object at

time t= 0?

A. 0

B. 

C. 

D. 

2ms−1

4ms−1

10ms−1

https://dl.doubtnut.com/l/_4s8eGLIFVChb


Answer: B

Watch Video Solution

18. What is constant for an object performing

uniform circular motion ?

A. Acceleration

B. Velocity

C. Displacement

D. Speed

https://dl.doubtnut.com/l/_4s8eGLIFVChb
https://dl.doubtnut.com/l/_Mcs5vs0ZPuwc


Answer: D

Watch Video Solution

19. What value is given by the area of a region

surrounded below the graph of v-t of a moving

object in the given time period ?

A. Distance

B. Velocity

C. Acceleration

D. Force

https://dl.doubtnut.com/l/_Mcs5vs0ZPuwc
https://dl.doubtnut.com/l/_gcq6bSAqykyq


Answer: A::C::D

Watch Video Solution

20. Velocity of a moving car goes on increasing

with time. In which direction would the

acceleration of this car be?

A. in direction of velocity

B. in opposite direction to velocity

C. in perpendicular direction to velocity

D. in any direction

https://dl.doubtnut.com/l/_gcq6bSAqykyq
https://dl.doubtnut.com/l/_meTJbeBdZLaM


Answer: A

Watch Video Solution

21. A graph of velocity-time (v-t) for an object

performing motion is shown, what would you

https://dl.doubtnut.com/l/_meTJbeBdZLaM
https://dl.doubtnut.com/l/_lhx6D7job7Y6


conclude about motion of the object? 

A. It would be performing uniform motion.

B. It would be performing non-uniform

motion.

C. It would be in steady state.

https://dl.doubtnut.com/l/_lhx6D7job7Y6


D. It would be performing constant

accelerated motion,

Answer: A

Watch Video Solution

22. Which of the following graphs represents

uniform motion of an object ?

A. 

https://dl.doubtnut.com/l/_lhx6D7job7Y6
https://dl.doubtnut.com/l/_8EWryhRp043F


B. 

C. 

D. 

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_8EWryhRp043F


23. Four motorcars A, B, C and D are moving on

a road in the same direction. Their graphs for

distance-time are shown in the same graph

paper, which of the following state is true ? 

A. Motorcar A is faster than car c.

https://dl.doubtnut.com/l/_txe8qcrEb4AQ


B. Motorcar D is the fastest.

C. Motorcar B is faster than car D.

D. Motorcar is slower than car B.

Answer: A::C::D

Watch Video Solution

24. The speed-time graphs for three objects X,

Y and Z are represented on the same graph

paper. Which object would cover the highest

https://dl.doubtnut.com/l/_txe8qcrEb4AQ
https://dl.doubtnut.com/l/_wTNQ1gWZLugN


distance in given interval of time (t)? 

A. Z

B. X

C. Y

https://dl.doubtnut.com/l/_wTNQ1gWZLugN


D. All three objects would cover the same

(equal) distance

Answer:

Watch Video Solution

25. A particle is moving on a circle of radius r.

The displacement at the end of half revolution

would be …

A. zero

https://dl.doubtnut.com/l/_wTNQ1gWZLugN
https://dl.doubtnut.com/l/_VVvYftdISDs5


B. 

C. 

D. 

Answer: B

Watch Video Solution

pr

2e

2πr

26. An object is thrown in vertical upward

direction with velocity 'u' then the maximum

height attained by the object would be....

https://dl.doubtnut.com/l/_VVvYftdISDs5
https://dl.doubtnut.com/l/_VCXw9hPzAJae


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

u

g

u2

2g

u2

g

u

2g

27. The numerical ratio of displacement to

distance for a moving object is……

https://dl.doubtnut.com/l/_VCXw9hPzAJae
https://dl.doubtnut.com/l/_ON9FyRDKJfPA


A. always less than1

B. always equal to 1

C. always more than 1

D. equal to or less than 1

Answer: A

Watch Video Solution

28. If the distance (s), covered by an object is

directly proportion to the square of time (t).

then the object .......

https://dl.doubtnut.com/l/_ON9FyRDKJfPA
https://dl.doubtnut.com/l/_bJSJ7lMtg4e9


A. would be performing motion with

constant velocity.

B. would be performing motion with

constant acceleration.

C. would be performing motion with

increasing acceleration.

D. would be performing motion with

decreasing acceleration

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_bJSJ7lMtg4e9


29. If a boy is sitting on a merry-go-round,

moves with constant speed of 10  he

would be …

A. in steady state

B. moving with no acceleration

C. performing accelerated motion

D. moving with constant velocity

Answer: C

Watch Video Solution

ms−1

https://dl.doubtnut.com/l/_bJSJ7lMtg4e9
https://dl.doubtnut.com/l/_TdU5Y5ATiSvw


30. Area under a velocity-time graph

represents a physical quantity which has the

unit ........

A. 

B. m

C. 

D. 

Answer:

m2

m3

ms−1

https://dl.doubtnut.com/l/_TdU5Y5ATiSvw
https://dl.doubtnut.com/l/_PhBPtEKsyl9Y


Watch Video Solution

31. in which of the following cases of motion,

the distance covered and magnitude of

displacement can be same?

A. If the car performs motion on linear

path.

B. If the car performs motion on circular

path.

https://dl.doubtnut.com/l/_PhBPtEKsyl9Y
https://dl.doubtnut.com/l/_7KJ2fAUb1DhM


C. If the oscillator oscillates to and fro

about the mean-position.

D. If the earth revolves around the sun.

Answer: A

Watch Video Solution

32. For which of the following physical

quantities it is necessary to indicate direction

along with its magnitude ?

https://dl.doubtnut.com/l/_7KJ2fAUb1DhM
https://dl.doubtnut.com/l/_DDcaE1ATVCru


A. Speed

B. Path length

C. Displacement Temperature

D. 

Answer: A::C::D

Watch Video Solution

33. A sprinter completes a round on a circular

path of circumference 400 m, what is his

displacement ?

https://dl.doubtnut.com/l/_DDcaE1ATVCru
https://dl.doubtnut.com/l/_2sBvT6knpqaD


A. 400 m

B. 200 m

C. 100 m

D. zero

Answer:

Watch Video Solution

34. Constant speed oof a train is 

What is its speed in unit 

54kimh−1.

' ms−1. ?

https://dl.doubtnut.com/l/_2sBvT6knpqaD
https://dl.doubtnut.com/l/_Id8iQZwrGyUd


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

15ms−1

90ms−1

1.5ms−1

9ms−1

35. A scooterist travels at  along a

stright path for 20 min. How much distance

has he travelled ?

30kmh−1

https://dl.doubtnut.com/l/_Id8iQZwrGyUd
https://dl.doubtnut.com/l/_9PpIglv9WCzo


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1.5km

6km

10km

90km

36. A cyclist travels 5km in the east direction.

Then he travels 12km in the south direction.

https://dl.doubtnut.com/l/_9PpIglv9WCzo
https://dl.doubtnut.com/l/_6r3soKjbI6hm


What is the magnitude of displacement of the

cyclist ?

A. 17 km

B. 13 km

C. 7km

D. zero

Answer: A::C

Watch Video Solution

https://dl.doubtnut.com/l/_6r3soKjbI6hm


37. If velocity-time graph for a body in motion

is a straight line parallel to time axis, what

type of motion is the body performing ?

A. would be stationary

B. non-uniform motion

C. motion with constant acceleration

D. motion with constant velocity

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_t45Z8psWOZbj


38. Which type of motion is described by a

graph in figure? 

A. uniform motion

B. uniformly accelerated motion

https://dl.doubtnut.com/l/_LXeSZHF4a8ag


C. non-uniform acce lerated motion

D. body is in stationary state

Answer: B

Watch Video Solution

39. Velocity of a vehicle increases from 5ms to

 in 5 s. What is the magnitude of

acceleration ?

A. 

15ms−1

4ms−2

https://dl.doubtnut.com/l/_LXeSZHF4a8ag
https://dl.doubtnut.com/l/_uq5XQXVZyVsk


B. 

C. 

D. 

Answer: D

Watch Video Solution

4ms−1

2ms−1

2ms−2

40. Velocity-time graphs vehicle A for vehicles

A and B are shown in figure Which vehicle has

accelerated motion vehicle B and which vehicle

https://dl.doubtnut.com/l/_uq5XQXVZyVsk
https://dl.doubtnut.com/l/_Cg7aQWQFx7ok


has retarded motion ? 

A. Vehicle A retardation, vehicle B

acceleration

B. Vehicle A acceleration, vehicle B

retardation

https://dl.doubtnut.com/l/_Cg7aQWQFx7ok


C. Both vehicles A and B acceleration

D. Both vehicles A and B retardation

Answer: B

Watch Video Solution

41. Acceleration of a car in motion is

 How much is the increase in

velocity in 4s?

A. 

1.5ms−2.

6ms−1

https://dl.doubtnut.com/l/_Cg7aQWQFx7ok
https://dl.doubtnut.com/l/_X37ubBoOvk32


B. 

C. 

D. 

Answer: A

Watch Video Solution

4ms−1

4ms−1

2.66ms−1

42. For which physical quantity from the

following, direction is not required to be

mentioned with its magnitude ?

https://dl.doubtnut.com/l/_X37ubBoOvk32
https://dl.doubtnut.com/l/_gKO4OgPzwYlo


A. Speed

B. Displacement

C. Velocity

D. Acceleration

Answer: D

Watch Video Solution

43. When is it said that the object performs

uniform motion?

https://dl.doubtnut.com/l/_gKO4OgPzwYlo
https://dl.doubtnut.com/l/_W1UYNON3bdcJ


A. Covers different distances in equal

intervals of time.

B. Covers equal distances in different time

intervals.

C. Covers equal distances in equal time

intervals.

D. Covers different distances in different

time intervals.

Answer: A::C::D

Watch Video Solution

https://dl.doubtnut.com/l/_W1UYNON3bdcJ


44. A person walks distance of 4 km from his

home in the north direction. Then he covers

distance of 3 km in west direction. Now t from

this place he direction walks toward home on

the path of minimum distance between that

place and home. What would be the total

https://dl.doubtnut.com/l/_W1UYNON3bdcJ
https://dl.doubtnut.com/l/_fjoDLnQVkduO


Home distance covered by this person? 

A. 5 km

B. 7 km

C. 12 km

D. zero

https://dl.doubtnut.com/l/_fjoDLnQVkduO


Answer: C

Watch Video Solution

45. A vehicle covers certain distance at

constant speed of  in time interval 't'

on linear path. Then it covers certain distance

at constant speed of  in the same

time interval. What is the average speed of the

vehicle ?

A. 

20kmh−1

30kmh−1

25kmh−1

https://dl.doubtnut.com/l/_fjoDLnQVkduO
https://dl.doubtnut.com/l/_sB1SZfxaAP78


B. 

C. 

D. 

Answer: A

Watch Video Solution

24kmh−1

50kmh−1

12kmh−1

46. What is acceleration?

A. Rate of position changing with time

B. Rate of velocity changing with time

https://dl.doubtnut.com/l/_sB1SZfxaAP78
https://dl.doubtnut.com/l/_kiD6QcrNryyc


C. Rate of speed changing with time

D. Rate of displacement changing with time

Answer: A::C

Watch Video Solution

47. Which of the following relations is correct

for a vehicle performing uniform accelerated

motion?

A. v =
a

t

https://dl.doubtnut.com/l/_kiD6QcrNryyc
https://dl.doubtnut.com/l/_w5gI8PuDqJw7


B. 

C. 

D. 

Answer: A

Watch Video Solution

u =
a

t

t = −
(v − u)

a

v = u + at

48. A graph of velocity versus time (v - t) for an

object performing motion with uniform

acceleration is shown 

https://dl.doubtnut.com/l/_w5gI8PuDqJw7
https://dl.doubtnut.com/l/_djIzAvqLTYs3


 


What would be the velocity of the object at

time t= 0?

A. 0

B. 

C. 

D. 

2ms−1

4ms−1

10ms−1

https://dl.doubtnut.com/l/_djIzAvqLTYs3


Answer: B

Watch Video Solution

49. What is constant for an object performing

uniform circular motion ?

A. Acceleration

B. Velocity

C. Displacement

D. Speed

https://dl.doubtnut.com/l/_djIzAvqLTYs3
https://dl.doubtnut.com/l/_t1Xbz4O7ELCR


Answer: D

Watch Video Solution

50. What value is given by the area of a region

surrounded below the graph of v-t of a moving

object in the given time period ?

A. Distance

B. Velocity

C. Acceleration

D. Force

https://dl.doubtnut.com/l/_t1Xbz4O7ELCR
https://dl.doubtnut.com/l/_D8bb7Y13BKTh


Answer: A

Watch Video Solution

51. Velocity of a moving car goes on increasing

with time. In which direction would the

acceleration of this car be?

A. in direction of velocity

B. in opposite direction to velocity

C. in perpendicular direction to velocity

D. in any direction

https://dl.doubtnut.com/l/_D8bb7Y13BKTh
https://dl.doubtnut.com/l/_tYwrx5aPaXpx


Answer: A

Watch Video Solution

52. A graph of velocity-time (v-t) for an object

performing motion is shown, what would you

https://dl.doubtnut.com/l/_tYwrx5aPaXpx
https://dl.doubtnut.com/l/_muQEiQWx2f2P


conclude about motion of the object? 

A. It would be performing uniform motion.

B. It would be performing non-uniform

motion.

C. It would be in steady state.

https://dl.doubtnut.com/l/_muQEiQWx2f2P


D. It would be performing constant

accelerated motion,

Answer: A

Watch Video Solution

53. Which of the following graphs represents

uniform motion of an object ?

A. 

https://dl.doubtnut.com/l/_muQEiQWx2f2P
https://dl.doubtnut.com/l/_DWQOPznmHhOe


B. 

C. 

D. 

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_DWQOPznmHhOe


54. Four motorcars A, B, C and D are moving

on a road in the same direction. Their graphs

for distance-time are shown in the same graph

paper, which of the following state is true ? 

A. Motorcar A is faster than car c.

https://dl.doubtnut.com/l/_TFB6oayRx5Si


B. Motorcar D is the fastest.

C. Motorcar B is faster than car D.

D. Motorcar is slower than car B.

Answer: A::C::D

Watch Video Solution

55. The speed-time graphs for three objects X,

Y and Z are represented on the same graph

paper. Which object would cover the highest

https://dl.doubtnut.com/l/_TFB6oayRx5Si
https://dl.doubtnut.com/l/_03Ww9sBPkNMe


distance in given interval of time (t)? 

A. Z

B. X

C. Y

https://dl.doubtnut.com/l/_03Ww9sBPkNMe


D. All three objects would cover the same

(equal) distance

Answer:

Watch Video Solution

56. A particle is moving on a circle of radius r.

The displacement at the end of half revolution

would be …

A. zero

https://dl.doubtnut.com/l/_03Ww9sBPkNMe
https://dl.doubtnut.com/l/_JvjSiQkBE1uD


B. 

C. 

D. 

Answer: B

Watch Video Solution

pr

2e

2πr

57. An object is thrown in vertical upward

direction with velocity 'u' then the maximum

height attained by the object would be....

https://dl.doubtnut.com/l/_JvjSiQkBE1uD
https://dl.doubtnut.com/l/_LwB2HQBqu7Yg


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

u

g

u2

2g

u2

g

u

2g

58. The numerical ratio of displacement to

distance for a moving object is……

https://dl.doubtnut.com/l/_LwB2HQBqu7Yg
https://dl.doubtnut.com/l/_nokoZArnrWiJ


A. always less than1

B. always equal to 1

C. always more than 1

D. equal to or less than 1

Answer: A

Watch Video Solution

59. If the distance (s), covered by an object is

directly proportion to the square of time (t).

then the object .......

https://dl.doubtnut.com/l/_nokoZArnrWiJ
https://dl.doubtnut.com/l/_BzLegCDGG32C


A. would be performing motion with

constant velocity.

B. would be performing motion with

constant acceleration.

C. would be performing motion with

increasing acceleration.

D. would be performing motion with

decreasing acceleration

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_BzLegCDGG32C


60. If a boy is sitting on a merry-go-round,

moves with constant speed of 10  he

would be …

A. in steady state

B. moving with no acceleration

C. performing accelerated motion

D. moving with constant velocity

Answer: A::C::D

Watch Video Solution

ms−1

https://dl.doubtnut.com/l/_BzLegCDGG32C
https://dl.doubtnut.com/l/_JhpnZoqTs5d5


61. Area under a velocity-time graph

represents a physical quantity which has the

unit ........

A. 

B. m

C. 

D. 

Answer:

m2

m3

ms−1

https://dl.doubtnut.com/l/_JhpnZoqTs5d5
https://dl.doubtnut.com/l/_qVg0p1RHSKhC


Watch Video Solution

62. in which of the following cases of motion,

the distance covered and magnitude of

displacement can be same?

A. If the car performs motion on linear

path.

B. If the car performs motion on circular

path.

https://dl.doubtnut.com/l/_qVg0p1RHSKhC
https://dl.doubtnut.com/l/_wPLgMAKib1ZF


Fill In The Blanks

C. If the oscillator oscillates to and fro

about the mean-position.

D. If the earth revolves around the sun.

Answer: A::C

Watch Video Solution

1. A car moving with constant speed of 72 km h

1 is said to be moving at ......... ms−1.

https://dl.doubtnut.com/l/_wPLgMAKib1ZF
https://dl.doubtnut.com/l/_8HQD211W2vzF


Watch Video Solution

2. The slope given by the line in the x-t graph

of an object moving with uniform speed gives

the magnitude of .........

Watch Video Solution

3. The formula to find the linear speed of an

object performing uniform circular motion

is………

https://dl.doubtnut.com/l/_8HQD211W2vzF
https://dl.doubtnut.com/l/_1vGl9b90TBld
https://dl.doubtnut.com/l/_kATHtVHs2RH7


Watch Video Solution

4. Velocity of a bus moving with 36 km h

increases to  in 20s, then its

acceleration would be ....... 

Watch Video Solution

72kmh−1

ms−2

5. A bus is moving with speed of  on a

linear path and an acceleration  is

produced in it, then its speed after 2 s would

be ........ 

20s−1

4ms−2

ms−1.

https://dl.doubtnut.com/l/_kATHtVHs2RH7
https://dl.doubtnut.com/l/_kAauKv3RC9lR
https://dl.doubtnut.com/l/_8JC9TTV6YqZU


Watch Video Solution

6. An electric train is moving at the constant

speed of  It would have covered

......... km distance in 1 minute.

Watch Video Solution

120kmh−1.

7. A train takes 2 hour to reach Vadodara from

Ahmedabad. The same train take 3 hour while

coming back to Ahmedabad. The distance

https://dl.doubtnut.com/l/_8JC9TTV6YqZU
https://dl.doubtnut.com/l/_PT7XzSD4xEAR
https://dl.doubtnut.com/l/_MIjdoc1CjrMe


between Ahmedabad and Vadodara is 100 km.

The average speed of this train would be .........

km 

Watch Video Solution

h−1

8. A train covers 's' distance at the constant

speed of  Then it covers the same

distance in opposite direction at constant

speed of  then its average velocity

would be ......... km 

Watch Video Solution

30kmh−1.

45kmh−1,

h−1.

https://dl.doubtnut.com/l/_MIjdoc1CjrMe
https://dl.doubtnut.com/l/_mHpn7wI7GGNJ


9. The distance covered by a car is known by

the instrument ......... fitted in the car.

Watch Video Solution

10. The speed of a motorcycle is  for

first 10 minute and  for the next 10

minute, then the average speed of this

motorcycle during the 20 minute would be

......... km 

Watch Video Solution

40kmh−1

50kmh−1

h−1.

https://dl.doubtnut.com/l/_mHpn7wI7GGNJ
https://dl.doubtnut.com/l/_gzXNE4udiBku
https://dl.doubtnut.com/l/_vWc1v6rKA1vc


11. Acceleration of an object moving with

constant velocity is ........... (positive, negative,

zero)

Watch Video Solution

12. The speed of a scooter moving with

constant speed  is ......... km  (600,

36, 30)

Watch Video Solution

10ms−1 h−1.

https://dl.doubtnut.com/l/_vWc1v6rKA1vc
https://dl.doubtnut.com/l/_sgHbFukOCdR1
https://dl.doubtnut.com/l/_ZSLXvB9BvvdG


13. The ratio of displacement and distance

travelled for a moving body is (always more

than 1, always less than 1, less than 1 or equal

to 1)

Watch Video Solution

14. If the distance (s), covered by an object is

directly proportion to the square of time (t).

then the object .......

https://dl.doubtnut.com/l/_ZSLXvB9BvvdG
https://dl.doubtnut.com/l/_66zBs5UXhjJP
https://dl.doubtnut.com/l/_tT2V11ClLks1


Watch Video Solution

15. A boy is running on a circular path of

radius r at the constant speed  then

he is said to perform motion .......... (with

constant velocity, with acceleration, with

constant acceleration)

Watch Video Solution

20ms−1,

16. The slope of graph y-t give the magnitude

of .......... (displacement, speed, acceleration)

https://dl.doubtnut.com/l/_tT2V11ClLks1
https://dl.doubtnut.com/l/_SqNFEOvE80k1
https://dl.doubtnut.com/l/_6GRBqkWuiiCj


Watch Video Solution

17. If for a moving object, the distance-time

graph is (half) parabola, then the object would

be performing ......... motion. (uniform, with

constant acceleration, non-uniform)

Watch Video Solution

18. A scooterist is moving with speed 36 km h.

When breaks are applied, it stops after 10 s,

https://dl.doubtnut.com/l/_6GRBqkWuiiCj
https://dl.doubtnut.com/l/_hS52SlKihun4
https://dl.doubtnut.com/l/_lajeI07Z852t


hence the acceleration of the scooter would

be .........  (-10, -3.6, -1)

Watch Video Solution

ms−2

19. The odometer of a car reads 2000 km at

the start of a trip and 2400 km at the end of

the trip. If the trip took 8 hours, then the

average of the car would be ....... 

Watch Video Solution

kmh−1.

https://dl.doubtnut.com/l/_lajeI07Z852t
https://dl.doubtnut.com/l/_AaJvQETvhd78


20. A train covers 's' distance at the constant

speed  Then it covers the same

distance in opposite direction at constant

speed  then its average speed

would be ......... km  (37.5, 36, 25)

Watch Video Solution

30kmh−1

45kmh−1,

h−1.

21. A free falling ball is an example of motion.

(constant velocity, constant acceleration,

uniform)

https://dl.doubtnut.com/l/_3kUfves3TKIt
https://dl.doubtnut.com/l/_XJ730Iy84bAe


Watch Video Solution

22. An object travels 25 m in 4s on a linear

path and then another 50 m in 6 s. The

average speed of this object is .........

Watch Video Solution

ms−1.

23. Mahesh goes for morning walk along a

semicircular path of 70 m radius. He starts

from eastern end and reaches western end,

then his displacement is said to be ......... m.

https://dl.doubtnut.com/l/_XJ730Iy84bAe
https://dl.doubtnut.com/l/_7SSzkBXYZup7
https://dl.doubtnut.com/l/_MTtS06NourSS


(220, 140, 70) 

Watch Video Solution

24. ......... is not a vector quantity. (Speed,

Velocity, Displacement)

Watch Video Solution

https://dl.doubtnut.com/l/_MTtS06NourSS
https://dl.doubtnut.com/l/_MdfuZ0jZcccK
https://dl.doubtnut.com/l/_IfNwKwxCBa24


25. Velocity of a bus moving on a linear path

with  increases to  in 2 s, then

the acceleration of this bus would be .........

 (5, 9, 4)

Watch Video Solution

10ms−1 18ms−1

ms−2

26. A car moving with constant speed of 72 km

h 1 is said to be moving at ......... 

Watch Video Solution

ms−1.

https://dl.doubtnut.com/l/_IfNwKwxCBa24
https://dl.doubtnut.com/l/_QweZoWVftdlz
https://dl.doubtnut.com/l/_gH5wTwBp3v2b


27. The slope given by the line in the x-t graph

of an object moving with uniform speed gives

the magnitude of .........

Watch Video Solution

28. The formula to find the linear speed of an

object performing uniform circular motion

is………

Watch Video Solution

https://dl.doubtnut.com/l/_gH5wTwBp3v2b
https://dl.doubtnut.com/l/_yTbU7BBhhozs


29. Velocity of a bus moving with 36 km h

increases to  in 20s, then its

acceleration would be ....... 

Watch Video Solution

72kmh−1

ms−2

30. A bus is moving with speed of  on a

linear path and an acceleration  is

produced in it, then its speed after 2 s would

be ........ 

Watch Video Solution

20s−1

4ms−2

ms−1.

https://dl.doubtnut.com/l/_f0OsVIkPuY4P
https://dl.doubtnut.com/l/_YOoW6Ai79jNp


31. An electric train is moving at the constant

speed of  It would have covered

......... km distance in 1 minute.

Watch Video Solution

120kmh−1.

32. A train takes 2 hour to reach Vadodara

from Ahmedabad. The same train take 3 hour

while coming back to Ahmedabad. The

distance between Ahmedabad and Vadodara is

https://dl.doubtnut.com/l/_YOoW6Ai79jNp
https://dl.doubtnut.com/l/_QYu8FU7DLevN
https://dl.doubtnut.com/l/_qVMfvmi2B5FU


100 km. The average speed of this train would

be ......... km 

Watch Video Solution

h−1

33. A train covers 's' distance at the constant

speed of  Then it covers the same

distance in opposite direction at constant

speed of  then its average velocity

would be ......... km 

Watch Video Solution

30kmh−1.

45kmh−1,

h−1.

https://dl.doubtnut.com/l/_qVMfvmi2B5FU
https://dl.doubtnut.com/l/_3qOzhjUEELag
https://dl.doubtnut.com/l/_CNxd8ajOclF6


34. The distance covered by a car is known by

the instrument ......... fitted in the car.

Watch Video Solution

35. The speed of a motorcycle is  for

first 10 minute and  for the next 10

minute, then the average speed of this

motorcycle during the 20 minute would be

......... km 

Watch Video Solution

40kmh−1

50kmh−1

h−1.

https://dl.doubtnut.com/l/_CNxd8ajOclF6
https://dl.doubtnut.com/l/_KPBIevmJtp0s


36. Acceleration of an object moving with

constant velocity is ........... (positive, negative,

zero)

Watch Video Solution

37. The speed of a scooter moving with

constant speed  is ......... km  (600,

36, 30)

Watch Video Solution

10ms−1 h−1.

https://dl.doubtnut.com/l/_umhLQq8IEZcF
https://dl.doubtnut.com/l/_kDRSPy62Rwez
https://dl.doubtnut.com/l/_dHeEQ4yx7584


38. The ratio of displacement and distance

travelled for a moving body is (always more

than 1, always less than 1, less than 1 or equal

to 1)

Watch Video Solution

39. A stationary object starts moving. Its

displacement is directly proportional to the

square of the time, hence this object is said to

perform motion .......... (with constant velocity,

with constant acceleration, uniformly)

https://dl.doubtnut.com/l/_dHeEQ4yx7584
https://dl.doubtnut.com/l/_22UHfSYCWDNh


View Text Solution

40. A boy is running on a circular path of

radius r at the constant speed  then

he is said to perform motion .......... (with

constant velocity, with acceleration, with

constant acceleration)

Watch Video Solution

20ms−1,

https://dl.doubtnut.com/l/_22UHfSYCWDNh
https://dl.doubtnut.com/l/_tkiCgx0E2JrK


41. The slope of graph y-t give the magnitude

of .......... (displacement, speed, acceleration)

Watch Video Solution

42. If for a moving object, the distance-time

graph is (half) parabola, then the object would

be performing ......... motion. (uniform, with

constant acceleration, non-uniform)

Watch Video Solution

https://dl.doubtnut.com/l/_ciCwvuNU0LNb
https://dl.doubtnut.com/l/_GHzvODM3AtNC
https://dl.doubtnut.com/l/_fPHfmYc3RSrM


43. A scooterist is moving with speed 36 km h.

When breaks are applied, it stops after 10 s,

hence the acceleration of the scooter would

be .........  (-10, -3.6, -1)

Watch Video Solution

ms−2

44. The odometer of a car reads 2000 km at

the start of a trip and 2400 km at the end of

the trip. If the trip took 8h, calculate the

average speed of the car in

kmh−1 and ms−1.

https://dl.doubtnut.com/l/_fPHfmYc3RSrM
https://dl.doubtnut.com/l/_CCtJ5ouWSIw0


Watch Video Solution

45. A train covers 's' distance at the constant

speed of  Then it covers the same

distance in opposite direction at constant

speed of  then its average velocity

would be ......... km 

Watch Video Solution

30kmh−1.

45kmh−1,

h−1.

https://dl.doubtnut.com/l/_CCtJ5ouWSIw0
https://dl.doubtnut.com/l/_KIIPgs7O0EMD


46. A free falling ball is an example of motion.

(constant velocity, constant acceleration,

uniform)

Watch Video Solution

47. An object travels 25 m in 4s on a linear

path and then another 50 m in 6 s. The

average speed of this object is .........

Watch Video Solution

ms−1.

https://dl.doubtnut.com/l/_69NYGm4gDEr9
https://dl.doubtnut.com/l/_Ihch2FrrF7NL
https://dl.doubtnut.com/l/_0sctayXOV1P3


48. Mahesh goes for morning walk along a

semicircular path of 70 m radius. He starts

from eastern end and reaches western end,

then his displacement is said to be ......... m.

(220, 140, 70) 

Watch Video Solution

https://dl.doubtnut.com/l/_0sctayXOV1P3


49. ......... is not a vector quantity. (Speed,

Velocity, Displacement)

Watch Video Solution

50. Velocity of a bus moving on a linear path

with  increases to  in 2 s, then

the acceleration of this bus would be .........

 (5, 9, 4)

Watch Video Solution

10ms−1 18ms−1

ms−2

https://dl.doubtnut.com/l/_bJxW7nduYoeX
https://dl.doubtnut.com/l/_dihAeqjWtpcg


True Or False

1. Motion is an absolute concept.

Watch Video Solution

2. For both the distance and displacement SI

unit is metre.

Watch Video Solution

https://dl.doubtnut.com/l/_6g4a5KRhsVls
https://dl.doubtnut.com/l/_y0ZnOv30stmE


3. The magnitude of the displacement of an

object is 20 m, then it can be said that the

distance covered by it is also 20 m.

Watch Video Solution

4. The distance covered by an object in the

given time duration may be positive, negative

or zero.

Watch Video Solution

https://dl.doubtnut.com/l/_i8NkMJ47imI0
https://dl.doubtnut.com/l/_aBaatYOtsOeY
https://dl.doubtnut.com/l/_6musdVAZhdXb


5. The displacement of an object in a given

time interval may be zero.

Watch Video Solution

6. Average speed is an average of different

speeds.

Watch Video Solution

https://dl.doubtnut.com/l/_6musdVAZhdXb
https://dl.doubtnut.com/l/_ldh8U5ZjV05N


7. An object performs motion with constant

speed along a circular path, then it is said that

its velocity is constant (uniform).

Watch Video Solution

8. An object performing uniform circular

motion performs accelerated motion.

Watch Video Solution

https://dl.doubtnut.com/l/_kclZoX9NZ0RF
https://dl.doubtnut.com/l/_K14myS8qhCm8


9. An object had covered 120 km distance, half

of this distance was covered at 20 km 

speed and the remaining distance at 30 km

 Then its average speed is said to be 

Watch Video Solution

h−1

h−1.

25kmh−1,

10. A train travels with speed  for

first 15 minutes and then 60 km h for next 15

40kmh−1

https://dl.doubtnut.com/l/_QS9wsTkb4AZ0
https://dl.doubtnut.com/l/_gIQk8mg70c6w


minutes, hence its average speed during this

time interval is 50 km 

Watch Video Solution

h−1.

11. The slope of the distance-time (xt) graph

gives the magnitude of acceleration.

Watch Video Solution

12. The unit of retardation is 

Watch Video Solution

ms−2.

https://dl.doubtnut.com/l/_gIQk8mg70c6w
https://dl.doubtnut.com/l/_MnIPQJPM4ZfJ
https://dl.doubtnut.com/l/_mx2umb3O2rIz


13. The direction of acceleration of an object

performing uniform circular motion is towards

the centre.

Watch Video Solution

14. If the final velocity of an object is less than

the initial velocity, then it performs

accelerated motion.

Watch Video Solution

https://dl.doubtnut.com/l/_mx2umb3O2rIz
https://dl.doubtnut.com/l/_2AYhnHM3ypxf
https://dl.doubtnut.com/l/_ljgZIjoZlQfk


15. The SI unit of speed is km 

Watch Video Solution

h−1.

16. Motion is a relative concept.

Watch Video Solution

17. For both the distance and displacement SI

unit is metre.

https://dl.doubtnut.com/l/_ljgZIjoZlQfk
https://dl.doubtnut.com/l/_ogk5zixdknb5
https://dl.doubtnut.com/l/_VVP4QbJGfCk0
https://dl.doubtnut.com/l/_744MqiuRoPnm


Watch Video Solution

18. The magnitude of the displacement of an

object is 20 m, then it can be said that the

distance covered by it is also 20 m.

Watch Video Solution

19. The distance covered by an object in the

given time duration may be positive, negative

or zero.

Watch Video Solution

https://dl.doubtnut.com/l/_744MqiuRoPnm
https://dl.doubtnut.com/l/_cOWd52W5nMgA
https://dl.doubtnut.com/l/_Dwghve5jLjDh


20. The displacement of an object in a given

time interval may be zero.

Watch Video Solution

21. Average speed is an average of different

speeds.

Watch Video Solution

https://dl.doubtnut.com/l/_Dwghve5jLjDh
https://dl.doubtnut.com/l/_Vqy0R18aEftu
https://dl.doubtnut.com/l/_lWLyOwawSz8m


22. An object performs motion with constant

speed along a circular path, then it is said that

its velocity is constant (uniform).

Watch Video Solution

23. An object performing uniform circular

motion performs accelerated motion.

Watch Video Solution

https://dl.doubtnut.com/l/_GGLMLZllrm7r
https://dl.doubtnut.com/l/_dB47wiErNbTk


24. An object had covered 120 km distance, half

of this distance was covered at 20 km 

speed and the remaining distance at 30 km

 Then its average speed is said to be 

Watch Video Solution

h−1

h−1.

25kmh−1,

25. A train travels with speed  for

first 15 minutes and then 60 km h for next 15

40kmh−1

https://dl.doubtnut.com/l/_RenVdmDuVR8z
https://dl.doubtnut.com/l/_Zt6gosBqdLwg


minutes, hence its average speed during this

time interval is 50 km 

Watch Video Solution

h−1.

26. The slope of the distance-time (xt) graph

gives the magnitude of acceleration.

Watch Video Solution

27. The unit of retardation is 

Watch Video Solution

ms−2.

https://dl.doubtnut.com/l/_Zt6gosBqdLwg
https://dl.doubtnut.com/l/_jRWZAHWjXPig
https://dl.doubtnut.com/l/_po4iGrJihTrm


28. The direction of acceleration of an object

performing uniform circular motion is towards

the centre.

Watch Video Solution

29. If the final velocity of an object is less than

the initial velocity, then it performs

accelerated motion.

Watch Video Solution

https://dl.doubtnut.com/l/_po4iGrJihTrm
https://dl.doubtnut.com/l/_qgDK3LgAUwzh
https://dl.doubtnut.com/l/_wH62tKCVQfMy


Question In Short

30. The SI unit of speed is km 

Watch Video Solution

h−1.

1. The displacement of a moving object in a

given interval of time is zero. Is the distance

travelled by the object zero? Comment

Watch Video Solution

https://dl.doubtnut.com/l/_wH62tKCVQfMy
https://dl.doubtnut.com/l/_8vMp9NiYZtMU
https://dl.doubtnut.com/l/_Ouqt8FcuONpa


2. What is uniform motion ?

Watch Video Solution

3. Explain non-uniform motion.

Watch Video Solution

4. The velocity-time graph shows the motion

of a cyclist. Find (i) acceleration (ii) its velocity

(iii) the distance covered by the cyclist in 15

https://dl.doubtnut.com/l/_Ouqt8FcuONpa
https://dl.doubtnut.com/l/_Gf9cdQbvjMLr
https://dl.doubtnut.com/l/_dgPw2QHScNHw
https://dl.doubtnut.com/l/_B5DOtTW94uhw


second 

Watch Video Solution

5. State which of the following situations are

possible and give an example for each of these

https://dl.doubtnut.com/l/_B5DOtTW94uhw
https://dl.doubtnut.com/l/_qS1MiwCAkBWx


: 

(a) an object with a constant acceleration but

with zero velocity. 

(b) an object moving in a certain direction

with an acceleration in the perpendicular

direction.

Watch Video Solution

6. An artificial satellite is moving in a circular

orbit of radius 42,250 km. Calculate its speed if

it takes 24 hour to revolve around the earth.

https://dl.doubtnut.com/l/_qS1MiwCAkBWx
https://dl.doubtnut.com/l/_QBEdoQwKXHfL


Watch Video Solution

7. A motorboat starting from rest on a lake

accelerates in a straight line at a constant rate

of  for  How far does the boat

travel during this time?

Watch Video Solution

3.0ms−2 8.0s.

8. An object starting from rest undergoes an

acceleration of for 10 second. Find (a)

the speed (b) the distance travelled.

8ms−2

https://dl.doubtnut.com/l/_QBEdoQwKXHfL
https://dl.doubtnut.com/l/_iVIlTFLWqizz
https://dl.doubtnut.com/l/_mOPNQHDQyZXS


Watch Video Solution

9. A motorcycle moving with a speed of

 is subjected to an acceleration of 

 for 10 second. Calculate (a) the

speed (b) the distance travelled.

Watch Video Solution

5ms−1

0.2ms−2

10. The displacement of a moving object in a

given interval of time is zero. Is the distance

https://dl.doubtnut.com/l/_mOPNQHDQyZXS
https://dl.doubtnut.com/l/_JZIX7w0KUJCK
https://dl.doubtnut.com/l/_J6IKqGF4ghx5


travelled by the object zero? Comment

Watch Video Solution

11. What is uniform motion ?

Watch Video Solution

12. Explain non-uniform motion.

Watch Video Solution

https://dl.doubtnut.com/l/_J6IKqGF4ghx5
https://dl.doubtnut.com/l/_Os5Ic89PTBfL
https://dl.doubtnut.com/l/_6sdaqtdC3LrO
https://dl.doubtnut.com/l/_xMVaoBQfWlET


13. The velocity-time graph shows the motion

of a cyclist. Find (i) acceleration (ii) its velocity

(iii) the distance covered by the cyclist in 15

second 

Watch Video Solution

https://dl.doubtnut.com/l/_xMVaoBQfWlET
https://dl.doubtnut.com/l/_ELumQcOP3cDQ


14. State which of the following situations are

possible and give an example for each of these

: 

(a) an object with a constant acceleration but

with zero velocity. 

(b) an object moving in a certain direction

with an acceleration in the perpendicular

direction.

Watch Video Solution

https://dl.doubtnut.com/l/_ELumQcOP3cDQ


15. An artificial satellite is moving in a circular

orbit of radius 42,250 km. Calculate its speed if

it takes 24 hour to revolve around the earth.

Watch Video Solution

16. A motorboat starting from rest on a lake

accelerates in a straight line at a constant rate

of  for  How far does the boat

travel during this time?

Watch Video Solution

3.0ms−2 8.0s.

https://dl.doubtnut.com/l/_pnOPWbOW2DPN
https://dl.doubtnut.com/l/_AKTSLFMvyKTB


17. An object starting from rest undergoes an

acceleration of for 10 second. Find (a)

the speed (b) the distance travelled.

Watch Video Solution

8ms−2

18. A motorcycle moving with a speed of

 is subjected to an acceleration of 

 for 10 second. Calculate (a) the

speed (b) the distance travelled.

Watch Video Solution

5ms−1

0.2ms−2

https://dl.doubtnut.com/l/_AKTSLFMvyKTB
https://dl.doubtnut.com/l/_aONoFsQmTvVa
https://dl.doubtnut.com/l/_mG5s5Dbk2qFZ


Statements

1. Motion is a relative concept.

Watch Video Solution

2. An object performing uniform circular

motion performs accelerated motion.

Watch Video Solution

https://dl.doubtnut.com/l/_mG5s5Dbk2qFZ
https://dl.doubtnut.com/l/_CyQ5ebkbf5oX
https://dl.doubtnut.com/l/_VDwIYpXlNEq6
https://dl.doubtnut.com/l/_EbkQIqLjeOXK


3. In rainy season flashes of lightning is seen

at first, but the sounds piercing the sky are

heard afterwards.

Watch Video Solution

4. Objects of different masses falling freely

from top of a tower, reach surface of the earth

simultaneously.

Watch Video Solution

https://dl.doubtnut.com/l/_EbkQIqLjeOXK
https://dl.doubtnut.com/l/_GliUhZMTUF72
https://dl.doubtnut.com/l/_D9aLy3lZYYVg


5. Area of the region under graph of velocity-

time for an object performing uniform motion

on a linear path, suggests distance covered by

the object during given time interval

Watch Video Solution

6. Motion is a relative concept.

Watch Video Solution

https://dl.doubtnut.com/l/_D9aLy3lZYYVg
https://dl.doubtnut.com/l/_ZzsFcs3FOgQI


7. An object performing uniform circular

motion performs accelerated motion.

Watch Video Solution

8. In rainy season flashes of lightning is seen

at first, but the sounds piercing the sky are

heard afterwards.

Watch Video Solution

https://dl.doubtnut.com/l/_2Ol16Mzkne9g
https://dl.doubtnut.com/l/_H09CJC2TLwU1


9. Objects of different masses falling freely

from top of a tower, reach surface of the earth

simultaneously.

Watch Video Solution

10. Area of the region under graph of velocity-

time for an object performing uniform motion

on a linear path, suggests distance covered by

the object during given time interval

Watch Video Solution

https://dl.doubtnut.com/l/_Wk4zOS0DFZFF
https://dl.doubtnut.com/l/_ZqwvMlxt1AdC


Match The Following

1. 

Watch Video Solution

2. 

Watch Video Solution

https://dl.doubtnut.com/l/_ZqwvMlxt1AdC
https://dl.doubtnut.com/l/_C1bXZgBdqWxi
https://dl.doubtnut.com/l/_MhhoDVMKi06W
https://dl.doubtnut.com/l/_8FnIgDeiaHN9


3. 

Watch Video Solution

4. 

Watch Video Solution

https://dl.doubtnut.com/l/_8FnIgDeiaHN9
https://dl.doubtnut.com/l/_fnrahkYGyZ9p


5. 

Watch Video Solution

6. 

Watch Video Solution

https://dl.doubtnut.com/l/_TrmTHzK2TUQi
https://dl.doubtnut.com/l/_yIAIjppwdz3h


7. 

Watch Video Solution

8. 

Watch Video Solution

https://dl.doubtnut.com/l/_yIAIjppwdz3h
https://dl.doubtnut.com/l/_pillF8tTj5RK
https://dl.doubtnut.com/l/_6FmEUr5IE8Os


9. 

Watch Video Solution

10. 

Watch Video Solution

https://dl.doubtnut.com/l/_yzyEQFwNgQ7Z
https://dl.doubtnut.com/l/_Hm3P1GkV5u2k


Answer The Following

1. A man travels a distance of 1.5 m towards

East, then 2.0 m towards South and finally 4.5

m towards north. 

(i) Calculate the total distance travelled. 

(ii) Calculate the resultant displacement.

Watch Video Solution

https://dl.doubtnut.com/l/_Hm3P1GkV5u2k
https://dl.doubtnut.com/l/_4iQ3UlBQmvfj


2. Joseph jogs from one end A to the other end

B of a straight 300 m road in 2 minute 30

second and then turns around and jogs 100 m

back to point in another 1 minute. What are

Joseph's average speeds and velocities in

jogging (a) from A to B and (b) from A to C?

Watch Video Solution

3. Abdul, while driving to school, computes the

average speed for his trip to be 20 km h−1.

https://dl.doubtnut.com/l/_zlTwKqUHOOrn
https://dl.doubtnut.com/l/_w7iVdGZxIhLB


On his return trip along the same route, there

is less traffic and the average speed is

 What is the average speed for

Abdul's trip?

Watch Video Solution

30kmh−1.

4. The distance-time graph of three objects A,

B and C is shown below. Study the graph and

answer the following questions : 

https://dl.doubtnut.com/l/_w7iVdGZxIhLB
https://dl.doubtnut.com/l/_cifZVPSfsLmh


 


: Distance-time graph) 

(a) Which of the three is travelling the fastest?

(b) Are all three ever at the same point on the

road ? 

(c) How far has travelled when B passes A? 

(d) How far has B travelled by the time it

passes C?

https://dl.doubtnut.com/l/_cifZVPSfsLmh


Watch Video Solution

5. A train travels at a speed of  for 

 for the next 0.25 h and then 

 for the next 0.75 h. Calculate the

total distance covered by the train and its

average speed.

Watch Video Solution

60kmh−1

0.5h, 24kmh−1

72kmh−1

https://dl.doubtnut.com/l/_cifZVPSfsLmh
https://dl.doubtnut.com/l/_XksJY2CU36Dz


6. A ball is gently dropped from a height of 20

m. If its velocity increases uniformly at the rate

of  with what velocity will it strike

the ground ? After what time will it strike the

ground?

Watch Video Solution

10ms−2,

7. (a) A body thrown in the vertically upward

direction rises up to a height 'h' and comes

back to the position of rest. Calculate the

https://dl.doubtnut.com/l/_Ek7AECWFbeEh
https://dl.doubtnut.com/l/_pWfZdcM4u0H4


displacement of the body. 

(b) A body starts to slide over a horizontal

surface with an initial velocity of 

Due to friction, its velocity decreases at the

rate of 0.05  How much time will it take

for the body to stop ?

Watch Video Solution

0.5ms−1.

ms−2.

8. An athlete completes one round of a circular

track of diameter 200 m in 40 s. What will be

https://dl.doubtnut.com/l/_pWfZdcM4u0H4
https://dl.doubtnut.com/l/_4WmGlrQlmLX3


the distance covered and the displacement at

the end of 2 minute 20 s?

Watch Video Solution

9. A driver of a car travelling at the speed of

 applies the brakes and accelerates

uniformly in the opposite direction. The car

stops in 5 s. Another driver going at 

in another car applies his brakes slowly and

stops in 10 s. On the same graph paper, plot

the speed versus time graphs for the two cars.

52kmh−1

34kmh−1

https://dl.doubtnut.com/l/_4WmGlrQlmLX3
https://dl.doubtnut.com/l/_a45OK86Ti973


Which of the two cars travelled farther after

the brakes were applied ?

Watch Video Solution

10. The speed-time graph of a car is shown in

figure given below 

 


Speed-time graph] 

https://dl.doubtnut.com/l/_a45OK86Ti973
https://dl.doubtnut.com/l/_6rpgKJpOG3Mj


(a) Find how far does the car travel in the first

4 second. Shade the area on the graph that

represents the distance travelled by the car

during the period. 

(b) Which part of the graph represents

uniform motion of the car ?

Watch Video Solution

11. Derive graphically where

symbols have their usual meaning.

Watch Video Solution

s = ut + at2,
1

2

https://dl.doubtnut.com/l/_6rpgKJpOG3Mj
https://dl.doubtnut.com/l/_3f9Bc4a0jaIY


12. write three equations of motion.

Watch Video Solution

13. A man travels a distance of 1.5 m towards

East, then 2.0 m towards South and finally 4.5

m towards north. 

(i) Calculate the total distance travelled. 

(ii) Calculate the resultant displacement.

Watch Video Solution

https://dl.doubtnut.com/l/_3f9Bc4a0jaIY
https://dl.doubtnut.com/l/_MNnYsrZAsltw
https://dl.doubtnut.com/l/_GSFA89w4Rqb5


14. Joseph jogs from one end A to the other

end B of a straight 300 m road in 2 minute 30

second and then turns around and jogs 100 m

back to point in another 1 minute. What are

Joseph's average speeds and velocities in

jogging (a) from A to B and (b) from A to C?

Watch Video Solution

15. Abdul, while driving to school, computes

the average speed for his trip to be 20 km

https://dl.doubtnut.com/l/_ZqGO5AmC5GjX
https://dl.doubtnut.com/l/_6Dj4hPsCX6fV


 On his return trip along the same route,

there is less traffic and the average speed is

 What is the average speed for

Abdul's trip?

Watch Video Solution

h−1.

30kmh−1.

16. The distance-time graph of three objects A,

B and C is shown below. Study the graph and

answer the following questions : 

https://dl.doubtnut.com/l/_6Dj4hPsCX6fV
https://dl.doubtnut.com/l/_VxnD60yknIHA


 


: Distance-time graph) 

(a) Which of the three is travelling the fastest?

(b) Are all three ever at the same point on the

road ? 

(c) How far has travelled when B passes A? 

(d) How far has B travelled by the time it

passes C?

https://dl.doubtnut.com/l/_VxnD60yknIHA


Watch Video Solution

17. A train travels at a speed of  for 

 for the next 0.25 h and then 

 for the next 0.75 h. Calculate the

total distance covered by the train and its

average speed.

Watch Video Solution

60kmh−1

0.5h, 24kmh−1

72kmh−1

https://dl.doubtnut.com/l/_VxnD60yknIHA
https://dl.doubtnut.com/l/_WyC01130LJzT


18. A ball is gently dropped from a height of 20

m. If its velocity increases uniformly at the rate

of  with what velocity will it strike

the ground ? After what time will it strike the

ground?

Watch Video Solution

10ms−2,

19. (a) A body thrown in the vertically upward

direction rises up to a height 'h' and comes

back to the position of rest. Calculate the

https://dl.doubtnut.com/l/_XiHlNnD5UHTl
https://dl.doubtnut.com/l/_aEfeC1byP7jt


displacement of the body. 

(b) A body starts to slide over a horizontal

surface with an initial velocity of 

Due to friction, its velocity decreases at the

rate of 0.05  How much time will it take

for the body to stop ?

Watch Video Solution

0.5ms−1.

ms−2.

20. An athlete completes one round of a

ciruclar track of radius R in 40 seconds. What

https://dl.doubtnut.com/l/_aEfeC1byP7jt
https://dl.doubtnut.com/l/_qzUdnf9DqdXD


will be his diplacement at the end of 2 minute

20 second?

Watch Video Solution

21. A driver of a car travelling at the speed of

 applies the brakes and accelerates

uniformly in the opposite direction. The car

stops in 5 s. Another driver going at 

in another car applies his brakes slowly and

stops in 10 s. On the same graph paper, plot

the speed versus time graphs for the two cars.

52kmh−1

34kmh−1

https://dl.doubtnut.com/l/_qzUdnf9DqdXD
https://dl.doubtnut.com/l/_886CjcRPYWas


Which of the two cars travelled farther after

the brakes were applied ?

Watch Video Solution

22. The speed-time graph of a car is shown in

figure given below 

 


Speed-time graph] 

https://dl.doubtnut.com/l/_886CjcRPYWas
https://dl.doubtnut.com/l/_7Q8GjvSSzEKu


(a) Find how far does the car travel in the first

4 second. Shade the area on the graph that

represents the distance travelled by the car

during the period. 

(b) Which part of the graph represents

uniform motion of the car ?

Watch Video Solution

23. Derive graphically where

symbols have their usual meaning.

Watch Video Solution

s = ut + at2,
1

2

https://dl.doubtnut.com/l/_7Q8GjvSSzEKu
https://dl.doubtnut.com/l/_LxdLz8hrl9qT


Textbook Examples Numericals

24. Derive graphically  where

symbols have their usual meaning.

Watch Video Solution

v2 = u2 + 2as,

1. An object travels 16 m in 4s and then

another 16 m in 2 s. What is the average speed

of the object?

https://dl.doubtnut.com/l/_LxdLz8hrl9qT
https://dl.doubtnut.com/l/_ZN4h11PjbpCU
https://dl.doubtnut.com/l/_XL49Yt8BJpux


Watch Video Solution

2. The odometer of a car reads 2000 km at the

start of a trip and 2400 km at the end of the

trip. If the trip took 8h, calculate the average

speed of the car in 

Watch Video Solution

kmh−1 and ms−1.

3. Usha swims in a 90 m long pool. She covers

180 m in one minute by swimming from one

end to the other and back along the same

https://dl.doubtnut.com/l/_XL49Yt8BJpux
https://dl.doubtnut.com/l/_WBJ0EPOrVefv
https://dl.doubtnut.com/l/_pCPkhyHcXovL


straight path. Find the average speed and

average velocity of Usha.

Watch Video Solution

4. Starting from a stationary position, Rahul

paddles his bicycle to attain a velocity of

 in 30 s. Then he applies brakes such

that the velocity of the bicycle comes down to

 in the next 5 s. Calculate the

acceleration of the bicycle in both the cases.

Watch Video Solution

6ms−1

4ms−1

https://dl.doubtnut.com/l/_pCPkhyHcXovL
https://dl.doubtnut.com/l/_aAn1ZmsIDr8f


5. A train starting from rest attains a velocity

of  in 5 minute. Assuming that the

acceleration is uniform, find (i) the

acceleration and (ii) the distance travelled by

the train for attaining this velocity.

Watch Video Solution

72kmh−1

6. A car accelerates uniformly from 

to  in 5 s. Calculate (i) the

18kmh−1

36kmh−1

https://dl.doubtnut.com/l/_aAn1ZmsIDr8f
https://dl.doubtnut.com/l/_EPjE8pfGNrKo
https://dl.doubtnut.com/l/_05LBIvzQzO4G


acceleration and (ii) the distance covered by

the car in that time.

Watch Video Solution

7. The brakes applied to a car produce an

acceleration of  in the opposite direction

to the motion. If the car takes 2s to stop after

the application of brakes, calculate the

distance it travels during this time.

Watch Video Solution

6ms2

https://dl.doubtnut.com/l/_05LBIvzQzO4G
https://dl.doubtnut.com/l/_UdWqylUBqtfw
https://dl.doubtnut.com/l/_M9Z3rMTTKKjB


8. An object travels 16 m in 4s and then

another 16 m in 2 s. What is the average speed

of the object?

Watch Video Solution

9. The odometer of a car reads 2000 km at the

start of a trip and 2400 km at the end of the

trip. If the trip took 8h, calculate the average

speed of the car in 

Watch Video Solution

kmh−1 and ms−1.

https://dl.doubtnut.com/l/_M9Z3rMTTKKjB
https://dl.doubtnut.com/l/_Vvp1rJwGMBp7


10. Usha swims in a 90 m long pool. She covers

180 m in one minute by swimming from one

end to the other and back along the same

straight path. Find the average speed and

average velocity of Usha.

Watch Video Solution

11. Starting from a stationary position, Rahul

paddles his bicycle to attain a velocity of

 in 30 s. Then he applies brakes such6ms−1

https://dl.doubtnut.com/l/_rXhOGuA8A5aH
https://dl.doubtnut.com/l/_8ilTTQB5p8gb


that the velocity of the bicycle comes down to

 in the next 5 s. Calculate the

acceleration of the bicycle in both the cases.

Watch Video Solution

4ms−1

12. A train starting from rest attains a velocity

of  in 5 minute. Assuming that the

acceleration is uniform, find (i) the

acceleration and (ii) the distance travelled by

the train for attaining this velocity.

Watch Video Solution

72kmh−1

https://dl.doubtnut.com/l/_8ilTTQB5p8gb
https://dl.doubtnut.com/l/_Ap5ZFhXIQy0Y


13. A car accelerates uniformly from 

to  in 5 s. Calculate (i) the

acceleration and (ii) the distance covered by

the car in that time.

Watch Video Solution

18kmh−1

36kmh−1

14. The brakes applied to a car produce an

acceleration of  in the opposite direction

to the motion. If the car takes 2s to stop after

6ms2

https://dl.doubtnut.com/l/_Ap5ZFhXIQy0Y
https://dl.doubtnut.com/l/_FnHV9XZcKCHl
https://dl.doubtnut.com/l/_nfZXavXbcTbx


Additional Numericals For Practice

the application of brakes, calculate the

distance it travels during this time.

Watch Video Solution

1. A person completes 5 rounds (revolutions)

on a circular path of radius 50 m. Find out the

distance travelled by that person and

magnitude (value) of displacement.

Watch Video Solution

https://dl.doubtnut.com/l/_nfZXavXbcTbx
https://dl.doubtnut.com/l/_45CACbjCTwIF


2. The distance between Ahmedabad and

Vadodara is 100 km. A scooterist travels at the

average speed of  If he travels first

60 km at a uniform speed of  what

will be his speed for the remaining distance ?

Watch Video Solution

50kmh−1.

45kmh−1,

3. The speed of the scooter moving with

uniform acceleration of  becomes 

 at a certain time. What will be the

4ms−2

20ms−1

https://dl.doubtnut.com/l/_45CACbjCTwIF
https://dl.doubtnut.com/l/_X0WNqBZTSDKD
https://dl.doubtnut.com/l/_eVdkKpLy2ynx


speed of the scooter, when it has covered a

distance of 112 m after that time?

Watch Video Solution

4. The velocity of a particle performing motion

with uniform acceleration on a linear path, at

position 'x' is 'v' and  where

x is in metre. What would be the acceleration

of this particle? Take initial velocity of particle

= 14 

Watch Video Solution

v = √196 − 16x,

ms−1

https://dl.doubtnut.com/l/_eVdkKpLy2ynx
https://dl.doubtnut.com/l/_DJjJy5qcESGC


5. A person takes observations from odometer

of his own motorcar while starting journey as

well as after 40 min of his journey, which are

found as 1046 km and 1096 km respectively.

What would be the average speed of the

motorcar?

Watch Video Solution

6. A train was moving at the rate of 36 km/h.

When brakes are applied to a train running on

https://dl.doubtnut.com/l/_DJjJy5qcESGC
https://dl.doubtnut.com/l/_SdtlrdWPMbgN
https://dl.doubtnut.com/l/_stWpkNvdlRuv


a straight line, it stops after covering 200 m

distance. What would be the retardation

produced in the train ?

Watch Video Solution

7. A graph of velocity versus time (v - t) for a

moving particle on linear path is shown in

figure. What would be the displacement of the

https://dl.doubtnut.com/l/_stWpkNvdlRuv
https://dl.doubtnut.com/l/_kYqOS0RpTy89


particle in first 30 s?

Watch Video Solution

8. An object is allowed to fall freely from the

top of a 150 m high tower. At the same time

another object is allowed to fall freely from

the top of a 100 m high tower. If the

acceleration of both the free falling objects is

https://dl.doubtnut.com/l/_kYqOS0RpTy89
https://dl.doubtnut.com/l/_vNJYQTfTIZSX


same, then find the difference between their

heights after 2 s from their motion. How does

the difference of their heights change with the

time?

Watch Video Solution

9. Two stones are thrown vertically upward

simultaneously with velocity  Prove

that ratio of their maximum height attained is

(Take -g for acceleration in upward

u1 and u2

u2
1 : u2

2.

https://dl.doubtnut.com/l/_vNJYQTfTIZSX
https://dl.doubtnut.com/l/_9KQBqcYhYErK


direction and +g for acceleration in downward

direction.)

Watch Video Solution

10. An object is moving on a linear path in

definite direction with initial velocity 'u' with

constant acceleration. Prove that the distance

travelled by it during 'n'th second is

Watch Video Solution

u + (2n − 1).
a

2

https://dl.doubtnut.com/l/_9KQBqcYhYErK
https://dl.doubtnut.com/l/_gPqBR4eMSVll
https://dl.doubtnut.com/l/_ahqWqGvvWgkd


11. A stationary object, when starts motion,

covers 20 m distance in first 28 and 160 m in

next 4 second. Calculate the velocity at the

end 7 second from the beginning of the

motion.

Watch Video Solution

12. Use the data given in the following table

and draw the displacement-time graph for the

object : 

https://dl.doubtnut.com/l/_ahqWqGvvWgkd
https://dl.doubtnut.com/l/_Jt2OHWErPBEl


 


Using the graph, find the average velocity (i)

for first 4s (ii) for next 4s and (iii) for last 6 s.

Watch Video Solution

13. An electron enters in uniform electric field

with initial velocity  such that it

attains the acceleration  in the

direction of its initial motion. 

(i) Calculate the necessary time required for

the electron to attain the double velocity as

5 × 104ms−1

104ms−2

https://dl.doubtnut.com/l/_Jt2OHWErPBEl
https://dl.doubtnut.com/l/_lhEUK4ESBTOA


compared to its initial velocity.

(ii) How much distance the electron would

cover during this interval of time?

Watch Video Solution

14. A motorcyclist moves from position A to B

at the constant speed  then he

returns from it and comes back to original

position A at the speed 20  final his

average speed.

Watch Video Solution

30kmh−1,

kmh−1,

https://dl.doubtnut.com/l/_lhEUK4ESBTOA
https://dl.doubtnut.com/l/_1vIwVb5V0CBA


15. A person walks 50 m in the north direction

and from there he walks 30 m in the west

direction. 

Now, he/she walks 50 m distance in south

direction. Find the distance travelled by the

person and his/her displacement. 

Find out the average speed and average

velocity of person if he/she takes 100 s time to

move from initial to final position.

Watch Video Solution

https://dl.doubtnut.com/l/_1vIwVb5V0CBA
https://dl.doubtnut.com/l/_p3PnkPkL7AsW
https://dl.doubtnut.com/l/_hC0HfhoFFRQ2


16. For two cars A and B in motion distance

time graph is shown: 

 


(a) State initial positions of car A and car B. 

(b) When and at what distance from the

origin, these two cars would meet? 

(c) Find final speed of car A and car B.

Watch Video Solution

https://dl.doubtnut.com/l/_hC0HfhoFFRQ2


17. When brakes are applied to a car running

on a straight road, retardation of  is

produced. It stops after 3 s. Calculate the

distance travelled by car after brakes are

applied.

Watch Video Solution

4ms−2

18. A particle covers equal distances in same

direction on a linear path with different

https://dl.doubtnut.com/l/_hC0HfhoFFRQ2
https://dl.doubtnut.com/l/_zlHfePlXQiid
https://dl.doubtnut.com/l/_DQ2JrI7zMGgi


velocities  find the formula for

its average speed.

Watch Video Solution

v1, v2 and v3

19. Kalpesh, before going out, takes the

reading of the odometer of his motorcycle. It

was 8245 km. Driving at uniform velocity of

 for 30 min on a straight highway, he

reaches his friend's village. What would be the

odometer reading of his motorcycle there?

Watch Video Solution

60kmh−1

https://dl.doubtnut.com/l/_DQ2JrI7zMGgi
https://dl.doubtnut.com/l/_ydc2FkvEuKqT


20. For a particle in motion, distance-time

graph is shown in figure. From graph answer

the following: 

(i) During which time period the particle is

stationary? 

(ii) Find magnitude of velocity in OA, AB and

https://dl.doubtnut.com/l/_ydc2FkvEuKqT
https://dl.doubtnut.com/l/_su1yPM7kXzmT


BC parts.

Watch Video Solution

21. For moving train velocity-time graph is

shown in the figure : 

https://dl.doubtnut.com/l/_su1yPM7kXzmT
https://dl.doubtnut.com/l/_Y7syqvAA3PWq


 


(1) What is the maximum speed of the train

and how long it is maintained ? 

(ii) What are the accelerations of the train in

OA, AB and BC parts ? (ii) Find total distance

travelled by the train.

Watch Video Solution

https://dl.doubtnut.com/l/_Y7syqvAA3PWq


22. A car from stationary state moves in

positive X direction with constant acceleration

 for 8 s. Then it moves with constant

velocity, then find the total distance covered

by car after 12 s from the initial position.

Watch Video Solution

5ms−2

23. A man walks 1.5 m in the east direction,

then he walks 2.0 m in south direction and at

last walks 4.5 m in the east direction, then

https://dl.doubtnut.com/l/_x1S5vcOEEMeP
https://dl.doubtnut.com/l/_d7wcrTxXTFfT


using appropriate scale (e.g., 1 cm = 1 m) using

scale... ( i ) Calculate the distance covered by

the man. (ii) Find the resultant displacement

(magnitude) of the man.

View Text Solution

24. A girl walks from her house on a straight

path to drop a letter in the letter-box. Then

she returns to the origin point. Her

displacementtime graph is shown in the

figure, draw its velocity-time graph. 

https://dl.doubtnut.com/l/_d7wcrTxXTFfT
https://dl.doubtnut.com/l/_gVTEhmAHgtwp


 


 Slope of the graph OA = Velocity 


 


Slope of the graph AB = Velocity 

 


It is clear from the given displacement-

time graph that the girl moves with constant

→

= = + 2ms−1100 − 0

50 − 0

= = − 2ms−10 − 100

100 − 50

→

https://dl.doubtnut.com/l/_gVTEhmAHgtwp


positive velocity v from O to A. At point A for a

moment her velocity becomes zero and moves

back to origin (her house) at constant

negative velocity by changing the

View Text Solution

25. A person completes 5 rounds (revolutions)

on a circular path of radius 50 m. Find out the

distance travelled by that person and

magnitude (value) of displacement.

Watch Video Solution

https://dl.doubtnut.com/l/_gVTEhmAHgtwp
https://dl.doubtnut.com/l/_KrJEBIz37vXS


26. The distance between Ahmedabad and

Vadodara is 100 km. A scooterist travels at the

average speed of  If he travels first

60 km at a uniform speed of  what

will be his speed for the remaining distance ?

Watch Video Solution

50kmh−1.

45kmh−1,

27. The speed of the scooter moving with

uniform acceleration of  becomes 

 at a certain time. What will be the

4ms−2

20ms−1

https://dl.doubtnut.com/l/_KrJEBIz37vXS
https://dl.doubtnut.com/l/_lLm96eWaVXXq
https://dl.doubtnut.com/l/_HaSmrI8vtsoM


speed of the scooter, when it has covered a

distance of 112 m after that time?

Watch Video Solution

28. The velocity of a particle performing

motion with uniform acceleration on a linear

path, at position 'x' is 'v' and

 where x is in metre. What

would be the acceleration of this particle?

Take initial velocity of particle = 14 

Watch Video Solution

v = √196 − 16x,

ms−1

https://dl.doubtnut.com/l/_HaSmrI8vtsoM
https://dl.doubtnut.com/l/_zgIwlvztteMv


29. A person takes observations from

odometer of his own motorcar while starting

journey as well as after 40 min of his journey,

which are found as 1046 km and 1096 km

respectively. What would be the average speed

of the motorcar?

Watch Video Solution

30. A train was moving at the rate of 36 km/h.

When brakes are applied to a train running on

https://dl.doubtnut.com/l/_zgIwlvztteMv
https://dl.doubtnut.com/l/_gaDJKD7LTzEU
https://dl.doubtnut.com/l/_kvrzbKHcnfn5


a straight line, it stops after covering 200 m

distance. What would be the retardation

produced in the train ?

Watch Video Solution

31. A graph of velocity versus time (v - t) for a

moving particle on linear path is shown in

figure. What would be the displacement of the

https://dl.doubtnut.com/l/_kvrzbKHcnfn5
https://dl.doubtnut.com/l/_Oah4gQHZP09Y


particle in first 30 s?

Watch Video Solution

32. An object is allowed to fall freely from the

top of a 150 m high tower. At the same time

another object is allowed to fall freely from

the top of a 100 m high tower. If the

acceleration of both the free falling objects is

https://dl.doubtnut.com/l/_Oah4gQHZP09Y
https://dl.doubtnut.com/l/_qeEKijgmUIXu


same, then find the difference between their

heights after 2 s from their motion. How does

the difference of their heights change with the

time?

Watch Video Solution

33. Two stones are thrown vertically upward

simultaneously with velocity  Prove

that ratio of their maximum height attained is

(Take -g for acceleration in upward

u1 and u2

u2
1 : u2

2.

https://dl.doubtnut.com/l/_qeEKijgmUIXu
https://dl.doubtnut.com/l/_hdSSNJ8yvISQ


direction and +g for acceleration in downward

direction.)

Watch Video Solution

34. An object is moving on a linear path in

definite direction with initial velocity 'u' with

constant acceleration. Prove that the distance

travelled by it during 'n'th second is

Watch Video Solution

u + (2n − 1).
a

2

https://dl.doubtnut.com/l/_hdSSNJ8yvISQ
https://dl.doubtnut.com/l/_M2hk8oFBFCGV
https://dl.doubtnut.com/l/_gOsU3nhsWXHF


35. A stationary object, when starts motion,

covers 20 m distance in first 28 and 160 m in

next 4 second. Calculate the velocity at the

end 7 second from the beginning of the

motion.

Watch Video Solution

36. Use the data given in the following table

and draw the displacement-time graph for the

object : 

https://dl.doubtnut.com/l/_gOsU3nhsWXHF
https://dl.doubtnut.com/l/_3auzy2rJFDrn


 


Using the graph, find the average velocity (i)

for first 4s (ii) for next 4s and (iii) for last 6 s.

Watch Video Solution

37. An electron enters in uniform electric field

with initial velocity  such that it

attains the acceleration  in the

direction of its initial motion. 

(i) Calculate the necessary time required for

the electron to attain the double velocity as

5 × 104ms−1

104ms−2

https://dl.doubtnut.com/l/_3auzy2rJFDrn
https://dl.doubtnut.com/l/_uE2EK7x5Utm7


compared to its initial velocity.

(ii) How much distance the electron would

cover during this interval of time?

Watch Video Solution

38. A motorcyclist moves from position A to B

at the constant speed  then he

returns from it and comes back to original

position A at the speed 20  final his

average speed.

Watch Video Solution

30kmh−1,

kmh−1,

https://dl.doubtnut.com/l/_uE2EK7x5Utm7
https://dl.doubtnut.com/l/_geGy8TKmraso


39. A person walks 50 m in the north direction

and from there he walks 30 m in the west

direction. 

Now, he/she walks 50 m distance in south

direction. Find the distance travelled by the

person and his/her displacement. 

Find out the average speed and average

velocity of person if he/she takes 100 s time to

move from initial to final position.

Watch Video Solution

https://dl.doubtnut.com/l/_geGy8TKmraso
https://dl.doubtnut.com/l/_j9Vf5Q53TwrL
https://dl.doubtnut.com/l/_KXjbpi5BFsVX


40. For two cars A and B in motion distance

time graph is shown: 

 


(a) State initial positions of car A and car B. 

(b) When and at what distance from the

origin, these two cars would meet? 

(c) Find final speed of car A and car B.

Watch Video Solution

https://dl.doubtnut.com/l/_KXjbpi5BFsVX


41. When brakes are applied to a car running

on a straight road, retardation of  is

produced. It stops after 3 s. Calculate the

distance travelled by car after brakes are

applied.

Watch Video Solution

4ms−2

42. A particle covers equal distances in same

direction on a linear path with different

https://dl.doubtnut.com/l/_KXjbpi5BFsVX
https://dl.doubtnut.com/l/_r1YMW2dAUxis
https://dl.doubtnut.com/l/_1968Pa6Bbqig


velocities  find the formula for

its average speed.

Watch Video Solution

v1, v2 and v3

43. Kalpesh, before going out, takes the

reading of the odometer of his motorcycle. It

was 8245 km. Driving at uniform velocity of

 for 30 min on a straight highway, he

reaches his friend's village. What would be the

odometer reading of his motorcycle there?

Watch Video Solution

60kmh−1

https://dl.doubtnut.com/l/_1968Pa6Bbqig
https://dl.doubtnut.com/l/_M11uDPu6vsql


44. For a particle in motion, distance-time

graph is shown in figure. From graph answer

the following: 

(i) During which time period the particle is

stationary? 

(ii) Find magnitude of velocity in OA, AB and

https://dl.doubtnut.com/l/_M11uDPu6vsql
https://dl.doubtnut.com/l/_9AhVQcagBGZK


BC parts.

Watch Video Solution

45. For moving train velocity-time graph is

shown in the figure : 

https://dl.doubtnut.com/l/_9AhVQcagBGZK
https://dl.doubtnut.com/l/_QcRczsRyrpXi


 


(1) What is the maximum speed of the train

and how long it is maintained ? 

(ii) What are the accelerations of the train in

OA, AB and BC parts ? (ii) Find total distance

travelled by the train.

Watch Video Solution

https://dl.doubtnut.com/l/_QcRczsRyrpXi


46. A car from stationary state moves in

positive X direction with constant acceleration

 for 8 s. Then it moves with constant

velocity, then find the total distance covered

by car after 12 s from the initial position.

Watch Video Solution

5ms−2

47. A man travels a distance of 1.5 m towards

East, then 2.0 m towards South and finally 4.5

m towards north. 

https://dl.doubtnut.com/l/_vBuGnQQKba9L
https://dl.doubtnut.com/l/_Z69oUFGygLZ8


(i) Calculate the total distance travelled. 

(ii) Calculate the resultant displacement.

Watch Video Solution

48. A girl walks from her house on a straight

path to drop a letter in the letter-box. Then

she returns to the origin point. Her

displacementtime graph is shown in the

figure, draw its velocity-time graph. 

https://dl.doubtnut.com/l/_Z69oUFGygLZ8
https://dl.doubtnut.com/l/_XQm66xt8WCGP


 


 Slope of the graph OA = Velocity 


 


Slope of the graph AB = Velocity 

 


It is clear from the given displacement-

time graph that the girl moves with constant

→

= = + 2ms−1100 − 0

50 − 0

= = − 2ms−10 − 100

100 − 50

→

https://dl.doubtnut.com/l/_XQm66xt8WCGP


positive velocity v from O to A. At point A for a

moment her velocity becomes zero and moves

back to origin (her house) at constant

negative velocity by changing the

Watch Video Solution

https://dl.doubtnut.com/l/_XQm66xt8WCGP

